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OO0DO0000 DOoObOODOODOODOODO0ObDOO!load O shoot DO ODODOODO
oooboodobbibd wet DODOO0O0OODOOO0O0OOODOOOOOODOOO

D = —alive after load; wait; shoot.

000000000 Yale Shooting 000000000 Murder Mystery 00O [1] OO
o0oooooooooooooooooooooboooobooooboobbobboooo
00 (shoot)DODODOODODOO (malive) DODDOOOODOOOOOO

00 2 Murder Mystery [ [
initially alive.
load causes loaded.

shoot causes —alive N\ —loaded if loaded.

—alive after shoot;wait.

0000000 DOo000D 00000000000000D00O0OD0O (loaded) DO O
gboooooon

D = initially loaded.

OO0 A0DO0OOOO0O0ODOOO0O0oOoOooboOooboOooooo

22 0000000 AR

0000000 AR[11]00AO0D0DOCCOOOOODODOOOOOODOOODOOOOO
gbbogobuogbodgbbuooboboobbobooobbuoobbooobboob
00000000 ARODODO0ODOO0OOO0OO0O0DDO0O0DO0O0ODODO00ODOOO0DODOO
gbobuogdgbo2gdbbuobogobbuooobuooobboooobobboogb
gboooogn

221 00O

00oo0ooo ARO SO0 (AVFEC,V)DODODOUODDO AODDDOODDOODOOOOF
O000000000000EOOOODO (effect proposition) 000 OC OO O (constraint)
0000V OOOO0 (value proposition) 00000 OO

10



OO0 ARODOO0ODOO00OD0OO00ODODOO FODOODODDODOODOOODOO F,00000
00000000 FyOOOOOOOOODODOOOOOOooooooooooooooaao
0o0o0ooododouoooooiooooooooooooooooooon
0 2300000000 FOOODOOODOOOOO Ry, 000000 FOODODODOO
00000 Rngp = {true, false} 00000000000 FOO VeRng, 00000
O (FisV)0O0O0O0OD0ODODO0O0O0 OD0O00O0OD0ODO0O0O0O0O0OO0O0O00oooooo
0o

OO0 ARODOD00O0ODO0ODOO0ODOO00OO00

a causes ¢ if ¥
always ¢
a possibly changes F' if ¢

¢ after ay;...;a,

000 a,a, - ,a, 00000000¢,¢ 000F00000000000000O0O
(25) 00000 (28)00¢ 000 (V)0OOODOO0DO0DO00000O000000 AO0O
00000 (26)00000000000000000000000000000 ¢00
000000000000000 (27000000 ¢ 00000000 «00000
0000000000000000000000000000000000000000
00000000000

0000 (25000000 ¢0 fase 0000000

impossible a if ¢

oboobooobooboob o obboobodb e0bOo0obOoO0ObO0ODbOODO
Oo0O00000DoO00DD ADDOO

222 0O0O0O

00D ARODOO00DDOO0 DOOODOOOOOODODOOODDO RespOO0OODODODO
ODO00OResp UODODOOODOOODOODLOODLOODOOODLOODOODOODO
00000000000 Resp(a,o) 0000 ¢ 000000 « 000O0O0DOODOOOO
gbooboogooood

O0000 AROUODDOOO0ODODOODOOO
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HEN

OO0 AROODOO0O0DOO00OO0ODOOoO0OO0O0bOOoDbbOOobOOo0oOO0 FOOODO Ve
Rng, 0000000 oODOOD0OO0ODOODOOODOODLDODDOODODODOOOO
gbobbuoooobbbouooobbodgo

true, if o(F) =V,
o(F is V) = rue, if o(F)

false, otherwise

OOooobooooobbooooboooobobobooonooooOod alwayse OO
OO00000 o0O0 oUO0O0O0DOOO00O00O0O0DODOO0O0O0OO00O0 cDODODO always ¢
gboooooooood

00 ARO0OD00OO0O0 DOOODOODOOOODOOOODOOOOOOO (2.6)0
gboooboogooood

gooo

0000 Resp OO0OODOOOODOOOOOOO ResoDD New?, OOODOOODODOO

00t eoooonong JDDDDR@SODDDDDDDDDD
0000 (acauses ¢ if ) e DOOOOe O 9

OO00000000¢ O quDDDDDDDDD}
doddoobodoobodoooooooobooooooooooooooooooon
oo oo ooooooooo
OO000O00DO0o0DOOo0DO0o0oDoO0obDOoO0Obo0oDboO0oDOoOobDOoOn Newp, OO
0000000000000 «000000 0,0/ 0000 Newh(o,0)00O0O0O00OO
00000000000 (Fisd(F) 0000000

ResY(0,a) = {0' |

00 (1) FOOOOOOOOOOOOOOO o'(F)#o(F)0000

00 (2) 00O (a possibly changes F if¢y) e DO0O0O0Oc O o 000000

New} (0,0’ 0000000000 c 00000000/ 000000000 OOOODO
Do00bobobooooboboboobobobbbo0obOobg Resp oo
gbogbbugboboooboooboodbboobbuoobbuobbooooob
gboobogogooobod

Resp(a,0) = {0’ € ResY(a,0) | =30" € Res)(a,0) (New$)(o,0”") C Newlh(o,0'))}
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223 0O0OO

00 ARODODDO0D0O00 DOOOOOOOOOOO0O0OO0OO0OD00OO (Resp,oo)
0000000000000 0000000000000000000 M = (Resp, o)
00000 P=(¢afteray;---;a,) 00 0000000000000O0OC0ODODOOO

00,001,071, ,0an, 0p

0000 ¢,00000000; € Resplas,0;.,) 0000000000006, 00 ¢0O
00000000000000000000 MOODOOODOOO POOOOOOOO
00000000 POOOOCOOOOOOO0OOOO0OOOO0OOO0O00OO DOO
00000000000 MOOOOOOOO PO0OOOOOOOM EPOOOOOO
DO0O00000O000000000O0000DEPOOOO

224 000
00000000000000 Mary OOODOOOOOOQOOO [11]0

00 3 Mary 000

jump possibly changes hat if hat
jump  causes lake

getout causes —lake

puton causes hat

impossible jump if lake
impossible getout if —lake
impossible puton if hat

always lake D wet

initially —lake A —wet A hat

O000hat, lake,wet OO0 DO 000000 0O0O0O0OO0OOOO0OO0OO0OO0ODOODOO
0000000000000 0000000000000000 —Lake = (Lake is false),
Lake = (Lake is true) 00O 00O

Do0obdyqump DO0DODOOO0ODOOOO0OOODOODOOODOOOOODODOO0OD
000 (lake)y OO0 (lake D wet) OOODOOOOOOOODODOODODOODDOO getoutD
puton UUUOUOOOOODOODOOOOOOOOOOOOOOOO
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Get out

O21: May OUOOQOOOoOooooooOoO

gbobogbudgbdobo21bgbobodbogbobbobodobagbonbo
gboobodgbobooobbooubbooobboobuoobboobuooobbooon
gboodgbbogbboobuobooobbooboooboobboobuooboon

D = —lake N wet after jump; getout

23 SATUOOOOOO

ddddoooooooooobbbobbbobobbbobbboooooooooooo
00000 Blum O Furst 00O Graphplan [4] 0O 00O

Graphplan OO STRIPS OO OODOODOODOODDOODDOODDOODODOODDOO
0000000000 (planner) OO OGraphplan000000C0COOODODOOODOO
googobbogobbooobbogbbooobbooobbooobboboobboon
0000000000000 boobobobobooobb0o0b0o0obbOoUbdmutual
exclusion relation; mutexO O D OO OO 0O0OOO0O0OO00O0O0O0O0O0OO0OOOOOOOOOO
0000000000 bo0ooboobooobDb0obooobooobobOoooDbooo
Oo0o0boooobobboooobboboooobobboooobobobooo

googobbogobobooobbboboobboobbuoobbuoobbuooboboo
O00000000000000000 KautzO Selman 000000000 ODOOO0O
00000 (Satisfiability; SAT) 0000000000000 [BOODODOOOO SATO
0000000000000 000 BlackboxODOODODO [19]000 00 OO OBlackbox
O0O000000O00010000000000 SATODODOODDOOODOOoOoDbOOoOooDOo
o000 SATOO0O0Doooboon
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O0O000OO0OSTRIPS [7/000000000OSTRIPSO 019700 0O Fikes O Nilsson
0000000000000 bO0bO0bO0bOobO0obODOoboOooOooOooOg STRIPS OO
gbodbobogbbodbboobboobboobboobboobboobboob
goo

2.3.1 STRIPS

STRIPS [7] 00000000000 OOOOOOOOOOOOO (world model) OO
OO0O0DOO0o0D0OOoOoSTRIPSOOO0ODOODOOODODODOODOOODOODOODODOD
00 (initial world mode )0 0000000000 DO0OOOOOO0OOOOOOOOOO
O (operator) 00000000000 OSTRIPSOO0000O0O0DO0OOOOOOOOO
(goal) D0 ODOO0O0DOO0O0O0O0DODOOODDOOODDOOODOOO (means-end analysis)
gboobogg

O00000000000000 (precondition) 00000000000 DOOOOO (add
list) 00000000000 0000000000000000 (delete list) 00000
gbbbooobobbbooodobbbooaob

Fikes O Nilson OO0 0OO0O0OO0OOO0OO0ODOOOODOOOOOOOODODOODODOO
0000000000000 000LifschitzO0OOO [21] 0 STRIPSOOOOOOOO
gobooo

00000000000 [40 STRIPSOO000000O00O0O0O0O0OOOOOOO
gbbooboooobboooobbboooob

rocket(X) : X OOOOOOOO
place(X) . X00OoOooOo
cargo(X) . X00oooOd

has-fuel(X) : 0000 XOOOOOOOOO
at(X,Y) X000 yooo
in(X,Y) : 00XO0OYODOOOO
OO0O00ooboooo 0000 e, U000 OD0DO0O pO00O0O0O0O0oOOoOoOOoOoDO
gogooooooon
rocket(r) A cargo(a) A cargo(b) A place(l) A place(p)A
at(r, 1) A\ has-fuel(r) A at(a,l) A at(b,1).
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OO000b00 e,b000 pO0OODOOOLOOOO

at(a,p) A at(b,p)

0000000000000000000 (load)0000000 (unload)00000 (move)
0300000000

e 0OOODO load(R,P,C)

— 00000 O rocket(R) A place(P) A cargo(C) A at(R, P) A at(C, P)
~ 00000 O {in(C,R)}

~ 00000 O {at(C,P)}
e 10 0ODO wnload(R, P,C)

— 00000 O rocket(R) A place(P) A cargo(C) A at(R, P) A\ in(C, P)
~ 00000 O {at(C,P)}

~ 00000 O {in(C,R)}
e UDOOODO move(R,F,T)

— 000000 rocket(R) Aplace(F)Aplace(T)N(F # T)Aat(R, F) ANhas-fuel (R)
~ 00000 O {at(RT)}

— 00000 O {at(R, F), has-fuel(R)}

O0000000000000000 (schema) 00000000000 O0O0DOODOOOO
gbobbuooobobbboooobbbuoooobobuooon
STRIPSOO0OO00OO0O0DO0O0DOO0ODOOODOODOOODOOODOoOoDOOobbOOOn
OO00O0oOobOooooboooooSTRIPSODOOO0ODOOOOOODOOODOOODOOD
gbogdgbbodgbobodbbduobbuooobboodobboobbobbuooboab
gboboggbogobbobobogoboooboooboobooobboobboon
(sub-goal) 00000 O00OO0OOODOOOOOOOOODOOOOOOODOOOOOOODOOO
obobboobooboobooboobooboobobboboobooboon
gbooodbbuogboboodgbbogbbooobboobbuooobonoobobo
OOobo0ooboooooboooooboooobooobooooobogsSTRIPSODO
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gbogobuogbbudgbbuodgbbodbboooboooboobboobboab
gbooooogobooboooooon

OOooOoOSTRIPSODOOOOOOOODOOOOODOOOOOODOoOoOoOoDDoDO
OoOO0O0o0oDoO0oooooobooOooobobooooooSTRIPSOOOOOOODODOOO
gbobogdgbbooboobbobboobbuoobbooobobooboobboob
gbobodgbbuoobdugobuoogbboobbuoobuogoboooboobbob
gbobogobogobbooobboogoobbodbbuoobboobbuoobboon
gbooboooooo

2.3.2 Graphplan

Graphplan [4] OOSTRIPS 000000000 OOODOOOOOOOOOOOOOODO
O00000000000000 (partially ordered plan) OO0O0O00O0O0O0O00O0OOOO
OoobobooooobobooooobboobobobDoobobOobUoboobooDbo
0000000000 0O00O00000b0bO0DO0bO0oDO0o0DO0oDOoDoOoOobOooOoDOo
0000000000000 0000000 (totally ordered plan) 000000 A OO
oooboboboboooboboooobobobbDbO0 v»OoUoboboooboobo
000

Oo00ob0obOoooboobooooooboboobobobooooobooooooo
000000000000 000000000000000000 (linearization) O O O
Oo0Ooo0oooooooon

15 Ag; (a317 a32, a33); ayq

Uo0o0D0D000 asi,as,a33 O OODODODODOO0OOO0OOOO0O0O0O0O0OOOO0O0OO
gbboboooobbbuoooobbbuoooon

15 Qg2;a31; A32; A33; 4.

GraphplanO O OO OOO00OOO0ODOOOOOODOOOOOOODOODOOOODOO
000000000000 00000D0O00D00O000000OGraphplanOOO0ODO0OO
gbbbuoodobobbbooobbboooobbbuooan

1. ogoboboooooobo
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U 22000000000

2. 000000boboooooboon

gbbobooodgbobboooobbboodgbbobooan

gbooboooobood

000000000 (planning graph) 4|00 0000000000000 0O00 2.200
gboobogoboboboooobbboogbbbooduoobbbuoooboboboo
gbobogbogobbooobdog obuoboboboobboobboobbooon
oobooooooboo :gbooogob fOob0fO000DOODODOOO s +1000
000 e 0O0O00OO00obOo0obObOO0 yO0O0Ob0O0OMODOMUDDOODOODDO
sg+H1rugbobbogbugbobbobodbobbobodgbooboboobaobo
000 k0000000 fO00000 A+10000000000000 “no-op(f)”
oooobobobobo!oobooboooboo L,oooo

gboodbugbuogbbooboboobuoboobobobboboboobbon
gboboodobbgbobooobboobbooboboobooobbobbooboon
gboboodobbuoobbooboogbbdubbuoboobbuooboboobboob
gbobbobobbbobouoooooobbbbbbodoooodoobbbbbbuoooodoon
gbobooggbodbbuoobobuogobooooobbooobooboogbbogb
gbobuoogbobboooobbboogbbboooobbbao

D00000000000000000D0DODOOO00000000 Ly, Le,...,L, 000000000
ooo0o0oo L, 0o000ooo0og (L1, L) 000O0O0OO0ODODOOOOOOOOOOOO
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O ®
O o) O O
O O
O O
Inconsistent
Effects Interference
O
O
O
@)
Competing Inconsistent

Needs Support

023: 000000 [40]

000000 (mutual exclusion relation; mutex) 0000000000000 00OO
2.30 [40]0

e 000 2000000O0O00O0LODODLOUOOOODLDDODOO

1.000000000000000000 (inconsistent effects)0 00 0O O

2. 00000000000000000000 (interference)D 0000

3.200000000000OD0O00000«—1000000000000 (com-
peting needs)O

e 00O 0 20000000U000ODLOOO0OODODOOO

l.ogobboogooobooaobn
2. 000000000 :=100000000O00OO0ODOOODO0ODODOO 21
O000000000000000000000 (inconsistent support)O

gbobodd.0boodgobo20bbugobdgbbuooboobbogoboogn
gbbogboodgd .0oodbb200bbodboobboodoboobboogb
goooboooobobbooooboon
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-at(a,l)

-at(b,l) at(b,l)
[l

-at(r,l) -at(r,l)
/ It

-fuel(r) [ -fuel(r)
s

in(a,r) in(a,r)
load(r,a,! load(r,a W \ unload(r,a,p)— at(a,p)
in(b,r) in(b,r)
load(r,b,l) Ioad(r b I)/f/ unload(r,b,p)=—> at(b,p)
at(r,p) at(r,p)
move(r,l,p /// move(r,| pl/
at(a,l) ////f » at(a,l) //// ,
at(b,l) » at(b,l) » at(b,l)

at(r,l) » at(r,l) > at(r,])

-at(a,l)

Nw

fuel(r) » fuel(r) » fuel(r)
0 1 2 3 4 5 6

024 0000000000000000

gbbooodgbbbuoogobbbooodgbbobooon
Ooobod LyOoooobooboobooboboooboobooobobooobo b
oobob L, gobgboobooboobooboobuooboobo

L, ,d0b0ogobooobboobobooobbuoobboobboooon
020000000000 L,,000000000000O00O00O0O0

00000000000 fel, 000000000 no-op(f)000000 L;00
oooooboooboooobo Lo, ooboboobobDoobobooobo
gbooogaog
DobdoooboobobooogoboboobetdbOobOoobOobO0o2400000
0000000000 30500000000000000000000000Omove(r,p,l)
Dbhoooboobo4beb00obooboobobbobbooboon
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goooo

000000000000000 (00000 L,0000000000000000
0000000000000000000020000000000000000000
OO0OGraphplan 00 0000000000000 0000O0O00D0O0O0O0DOOOOO0O
000000000000000000000000000000000000000Q
0000000000000000000000000000000000000000
D000000000OGraphplan0 0000000000000 00O00OO

D0000000000000000000+=(000000 (guA---Ag,) 0000

D00 00000000 PO0000000171000G =(gA---Ag,) 00000
0D0000000G 000000000 +—-1000000000000 AC'oO00
D000000AT' 0000000000000 00000000000 G*0000a
0000000000000000000000000000 ne-op 00000000
D0DA-'0000D00002000000000000000000000000O00O0

000000000000000000D0000000 {47, A-Y000000
0000000000000010000000000000000000000000
D0000000000000000000AT' 0000000 +-2000000000
Al 0000000000000 0000000000

0000000000000 0000000()00000000000000000
000(2)000000000000000000000000000000000000
000 0000000000000000000000000000000000000
00000000000000000000000000 0000000000000
0000000000000000000000000000000000000000
0D000000000000000“0000000000” 0000000000000
000000000000000000000000000

00000000000000 600000000

G® = at(a,p) A at(b,p)

oooboobbbooooboboooobbo s0oooboobbboloobboo
goo

{unload(r, a,p), unload(r,b,p)}
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0000000000000000000000D0 40000000 G*0000
G* = at(r,p) Ain(a,r) A in(b,r)
G'00000000000 300000000000000000000O0

{{move(r,l,p), no-op(in(a,r)), no-op(in(b,r))},
{no-op(at(r,p)), no-op(in(a,r)), no-op(in(b,r))},
{no-op(at(r,p)), load(r,a,l), load(r,b,1))},

{no-op(at(r,p)), load(r,a,l), no-op(in(b,r)))},---,}

gobobobbob2000000 ne-op UOULODUOOOOOODOOOOOOOOOODOOOO
oo 2000b0b0obooooboobbbbooboooboobboooobon
load(r,a,l) O load(r,b,1) O move(r,l,p) DO D0O0O0O0O00O0O0O00OOOmove(r,l.p) O
O00200000000000000move0000 loed DD0OO0DD0OODOO0ODOOO
goooboobooboboobbobbdddodooooooooobbbouooogo
goodoo

Graphplan 0O DO O0ODOODOO 24 00000000000000000DO0ODO0ODODO
gogd

(load(r,a,l), load(r,b,1)) ; move(r,l,p) ; (unload(r,a,p), unload(r,b,p)) (2.9)

OO0O0020000000 led DO0OOOO0ODOOOODOOODOODODOODDO
0000 wnload DO OOOOOODOODO

GraphplanO O OO OOO00OO0ODOOOOOODOOOOOODOODOOOODOO
O0O000O0000000b00Db0ODODOGraphplanO000000O0O0ODOODODODO
gbl1gbbodbbooboogbooboboobbuoobobboobooon 20
gboooboboguoboboogobobooobbuooobooboboobbooobboon
ooboooboo“ocb0obooooboboboobobo20b00booooooobogon”
gbbogdgbobbudgbbbdooobobooobbboodbbooooboogb
gbobgdgbuogobooobboogbbugoboogbbooobbooobbogn
gbbogobogobobooooobboobbodbboobboobboobboob
Dboboobooboon

O00000000000OGraphplan00000O0OC0O0DOOODODOOOOOODO
000000000000000000000000000 [40]
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2.3.3 Blackbox

GraphplanO OO O0OO0O00O0DOODOOOO0O0ODODOODOOOOOOODOODOOOOO
ooooooOoO0O00O0OOOOOODODODOOOOOOOOCOCOCOCOODOODODDODOO
ooooooooOODOODOODODODODODODODODODO000000000000000000
ooooo

000 KautzO Selman 0000000000000 O000OODOO (Satisfiability; SAT)
0000000000000 [8ooOooooo sSATOOOOO0OooOOoOooooOooo
00 Blackbox OO O OO [1900000000Blackbox 000000 DOODODODO 10
O00000000 SATODOOO0OO0O00o0oOoOoOoO0O0ooooo SATOOO0OO000
O0D000000000000 SATOODOODOO0OO0SATOOO0O00000000000o
O00000000000000000000000000000000000000O00
Ooo0o

Blackbox O O[O Graphplan 0O OO OOOOOOOODOOODOOODOOODOODOO
oooooooooooo

1. ogoboboooaobo
2. 000000obobooogobon

OO000000O000O0O0D0O0O0ODO0O0ODOGraphplanODO0O00O0OOO0DODOOODOO
Blackbox U U UUOODOOUOOOODODODOOOO0ODODOO

goooo

oooboodoboobooboo/obbobL y,oboboobooboobooo
gbbodgbobgbboboboboobbug2b0bugbbooobbuoooboogb
OO00BlackboxUUOOOODOOOOOOODOOOOO

OO00o0boboboboobooboobOobo sAToooooooo

(1) 00000 Lo={f,---,f,} 0000 000000000000 {g1,--,gm} 00
00000000000

FIN o NfINGE A A gy,
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(2) 000 0000000000000 20000000 ,b000000000O0O
—a' Vv =b'.
(3) 00000000 DO0O000O0OD0O000DODOO00DO0OD0 ¢000000 «0DOO
gogbobuooob «.—-1000000d p,---,p, U000 oooooooog
aiDp’fl/\---/\pffl.
(4) 00000 +0000000000000O0O0ODODOOOO0OO0OO0OO +—100

gooooooOoooOobo0ooboOoobo sO0000D0D0O fODODODOODO
ggbb 1000000 aq,---,a, UOO0OOOO0O0OOOOOO

ffoatvevai

ODO0O0O00000000000g e0oooooboODDODODODOOODD 2400 SAT
gbooboogobobooogooon

e 0000 (1)00O0O

at®(r, 1) A has-fuel’(r) A at®(a, 1) A at®(b, 1) A at®(a,p) A at®(b, p).

e 10U0O (2)0DODODDODODODOOO

—move®(r, 1, p) V =load®(r, a,l)
—move®(r,1, p) V =load®(r,b, 1)
—move*(r,1,p) V =no-op*(at(r,1))
—move*(r, 1, p) V =no-op*(at(r, p))

e 100J0O 3)DODODODDOODODOOO
unload® (r,a,p) O in*(a,r) A at*(r,p)
unload® (r,b,p) D in*(b,r) A at*(r,p)
move®(r,1,p) D at*(r,1) A has-fuel®(r)

no-op>(at(r,1)) D at*(r,1)

24



e IJUJU 4ODODDDDOODODOOO

at®(a,p) D unload(r,a,p)® V no-op®(at(a,p))
at® (b, p) D unload(r, b, p)° V no-op®(at (b, p))

at4(at(r, p)) D move(r, l,p)V no-opS(at(r, p))

OO000000D00O0OO0 SATOOOOOOOOO0OO sAToooooooooboooo
OO000D0O00000000DO0Db0O00O0OSATOOODODOODODOOSATDODODOOD
gboogbobodgbboooboobbuoooboobooobooobooooogb
gbbogdgbbuoodbbboobobboobobbuooobboouobobboodab
0000*000000000000Graphplan000000000O (29 0000000
O0000D0O000D0SATOOODODOOO SATOO0OOOO0O0DOOoOO0ooooboOoo
OOBlackbox U U UOOODOUOOOOODDOOOOOODOO

O000OBlackboxOOOOODOOOOOOOOODODODOOBlackbox O O Graphplan
Oo0ooooOOooDOOCOOOO0OO0OoooOobobODOOOoOoOOoosSATODoOooOOoOoOoOoo
gbobogbobooodbbuooobbuobbuogobboooboooobbooobobo
O000000DOCODO0000DOODO0000DODOBlackboxd GraphplanOO O OO
0000000000000 00000000O0OO0OD [Yoooooooooooooo

‘00000 «00DO00000000O0O0D0O0DDOD «000000000000O0O00OODODOO
oo
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030 OO0 A000O0oOodd

OO000b0Ob0 AODO0OOO0oO0OO0O0oOOoOO0ooOobODOooOOobOobDOoboboboooo
000 ADODO0ODOOO0ODOOOOOO0O0OOO00O00oDOOooDOoOobooOoooDoO
000000000 [10)J00000ooooo0oooooon0 Aoooooooooo
gobobogooboboogoboogad

000000 AO0ODOOU0DOOO0O0O0U0bOoOobooU0ooOoOooDoboOoooOooDo
0000000000000 000000 DO0O0O000O0 [4(FA)ODODDDOoOoOOO
00000 AQOO0OOO0ODOOOO0OOO00DODOObOOO0ODOOoUODOOOobObOOODoOO
0000000000000 [¥U000D0000000000000AOOODOOOO
0 FAOOOOOODOOD 200000000030 FAD AQDOOOOODODOOOOO ()
AODFAODOOOOODOOOOOOOOODOOOOOOOOOOODODOOOODOD
gbobooodobood

00 ADO FAOOODODOODODOOOGelfond O LifschitzOOO ADOOOOODOO
gbboggbooobboobbogbbuoobboobboooboboobboob
O000000DA0OD FAOODOOODOOOODOODDODODADODOODDODODODODO
0000000000000 000DO0O0O0O0OFAD ADODOODODOOOODODOOO
Oooo0obooO0o0obobo0 Agooooobooooobooboooooobooooo

00 AD FADOOOOUODOOOOOODODODODOOOODODOODOOOOOOOoDOo
gbobogdbbuobodobbobboobbooboobbuoobbooobboob
ooobobgooobobgoboooboboboboboobobbooobobobo
Oo00O00o000O00obOoO00oOo00ooOooooO0ooO0ooDoObOoUOD ADoO
gbbbuoogobbbouodgobbodo
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3.1 U0ogoooon

OoO000O00 A0Oooooooboooobooooooobbooooboooo

f after ai;...;a, (3.1)

a causes e if p1 A ... Ap, (3.2)

000 @, 00000000 fie,p;, D0O00O0ODO0ODOODOOODOOOODOODOODODO
00 AODDODODOOO0ODOOOODOOoODO
O0 ADO0DOOOOO0ODOOOOOO0DOOo0ooOn

fiN.. A fr after aq;...;a,.
000000000 (3.1) 000000000 0ooooooooooooo
(f1 after ay;...;a,) A ... A (fr after aq;...;a,).
o000 ADODOODOOOOo

a causes e; A ... Ne if ¢

00 (3.2)000000000000000000000 9 000000 (disjunctive nor-
mal form) 000000

acauses e; A...Ne if pr V...V p,

bbb pp0gdbobbbbduooobbbbbooooobbobobobbouoooob
goobooogon

a causes e; if p;.

a causes ¢; if p;.

a causes ¢, if p,.

a causes ¢ if p,.
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3.2 A00 FAOOOO

OO0 AQDO0DOOO0O0OD0OO0 FAOODOOOOOODOOODOOODOOOOOOODO
000000000000 000000000000 (bFA)DODODODODOOODOOOO
00000 [28]000 DFAOODOODOOOOD0O0OOOO0OODO0O0O0DOOoooooooo
oboboboobobbobobooboobooboobood

3.2.1 0O0OO

00000000000 (DFA)D 500 (Q,T,6,¢,G) 000000000 QOO0
00000O0r00000000000000¢ (€Q)000000G(CQ)00000
000060 TxQO0 QOOOODOOO

AO0O FAOODOOOOOOODFAOOOOOOOOOOOOOODOOO AODO
000000000000000000 ¢00A0000000000000OO

q=SU{~F | F € fluent(D) \ S}. (3.3)

000 SCfluent(D) 0000000000000 T OOaction(D)0D00OODOOODOO
Os0000D0qO0ODO 3220000000000 000000DOD0OO0GEUHOGE=Q
Oo0O0oooo0o0oob 323000000 QUOOOODOOOD

000000000000 0000DODO000bODOObO000ooDoOOn ¢ooo
gboobuoooobboboooon

¢ =S U{~F|FeS8"}

000 S§,8" C fluent(D), S'NS"=000000000000000000000O0
000 fluent(D) = {loaded, alive} D0 000000000000 ¢ = {loaded} OO
{loaded, alive} O {loaded,—alive} 000 0000000000000 00000000
oboobon

0000000000 FOO0O0OCOOOOOODOOOOOOOO|F| =F,|-F|=F.
0000000000000000000 |q ={|f]]f€q.

00000 « O000O0O000000000 relle) DO0D0O0OOOOO

rel(a) = U {lel, Ip1l,---,|pnl}  for all (a causes e if py A...Ap,) € D.
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gbodgbdboubd oebbobbugbbobbodgbooobuobboobogb
00o00o0ooooo {a,...,q,;} 0000000000000

rel({ay,...,a,}) = rel(a1) U...Urel(ay).

000000000000 0000000000000000000 QOOO0O0000
000 f0000di(Q,f) 0000000000 qeQO00qU{f}, qu{~f} 000 2
000000000000

U{qu{r} qu{=r}} if|f| € lq| for any q € @,
div(Q, f) = { €@

Q otherwise.

div(Q,{f1,..., fu}) = div(div(... div(div(Q, f1), f2) -+, fa1), [n)-

3.22 AU00 DFAODOOOOO

O0 AO000D0D0OO0O0020000 InitD0O 3.100TransO O 3.200000DFA O
OO0D00D0O0000Init00 DFAOODODOOD0O0ODOTransO OO OO0OOOOODOODO
OO0t 0000000000000 0O0OODOOO0DO0OO0OOO0OOOobOoOoOobDOOoD
goodboboooobboobooobbooobbooboboobboobboon
gbobooogoboood

ObO2000000000000000000D00O00D0OO0OO

00 100 ADODOOOODOO0O0O000 PODOOOOOOD Z0000D 0000
00000 DFAOOO M =Trans(D,Init(D) 000000000Z0 MOO000O
0000000000000000000 I=(®,0,)0 0000000000000
000000000000 0000000 @000 DFAMeMOOODOO0O

OO0 pOobOobOOoO0bOoobOobOoobobD »0bobboboobobo e0n
OOMO0O0O00000DOO DFADODOOODOODO Qo ODOD0ODOO0 MeMDOODO
OO0 00000 3.1,0 3200000 NextStateOODOO 0000 0O0ODOODO
ODO0O000000000Y =, 0000000000000

oooooopobodbobooobooobooobboooboobboooo
00000000 A00000000000 DrOOOOD*O00000O00O0O00O0
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Init(D)
00Dk 00D000D000D0D00 AODO0DOooo D
0000000000 Qq
begin
Q° = {0};
for j:=1to k do
j 000 value 00O (f after aq;...;ay) € D;
T = div(Q7L, f);
for i :=1 to m do
Tg = div(Tg,rel(ai));
Tf;l = diU(TZ{D rel(a;));
T! := {NextState(a;,q,D) | g € T/ ,};
I = {qo€ Tg | f € qm, qm € T%,NextState*(al; 3 Qm, 0, D) = am};
Qo := div(QF, fluent(D))
end.
NextState(a, q, D)
00000000 e0O00 g0DO0 AODDOOODOO D
U00q0 o« OODOOOOOOO ¢
begin
¢ ={f]|(acauses fifpi A...Ap,) € D and {p1...pn} C q};
q=qdU{feqllflZId]}
end.
NextState*(ai;...;am,q, D)
ooooooood aq;...50, 000 OO ADODOOOOCO D
O000¢0d ar;...5a,, OOOOO0OOOO ¢
begin
q1 = ¢g;
for i :==1to m do ¢ := NextState(a;, q1, D)

end.

0 3.1:00000000000000 Init
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Trans(D, Qo)
00000 AODODOOODOO pOODODOODOO Qo
OOODFAODOO M
begin

Q = div({0}, fluent(D));

for all ¢ € @ and all a € action(D) do

d(a, q) := NextState(a, q, D);
M :={(Q, action(D), 4,40, Q) | g0 € Qo}

end.

U32200000000000 Trans

00000 ¥ 0000 MF = Trans(DF Init(D*)) 000000000 DFADDOO
D0000 Q00000000000 k0000 SF=Q:0000000000000
0000000031000000000000K000000001(0000%,=3Q},
Oooooosy = ooooooooop 00000ononog

DFtt = DF U {f after a;;...;a,,}. (m >0)

0000 P O00000000000oooo s oo

0000000000 Init000QM OO
18+1 — div(QkJrl,ﬂuent(DkJrl))

00000000 Q' 00

0000000 S={flurd({a,...,a,}) 00000000000 div(Q*S) 000
0000000 div(Q% fluent(DF1) 00 000000000000000

$ = din({go € div(Q, ) | J € (@,q0)" ), fluent (D))

= {q € div(Q*, fluent (D)) | f € (D, go)™ "}
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0000000000 div(QF, fluent(DF1)) 00000000 OO div(Q, fluent(DX)) O
0000000000000000

§1 = {ao € din(@", fluent(DY)) | f € (®,q0)" )

- z’g“_ O

OO0 100000 InitD Trans OO OO OOO0OOO0OOO0DOOODOOOOOODOO
OO000booooooboo0oooooobooDnitD TransO OO OOOOOODOOOO
gooboooooo

3.2.3 FAOOOO

00 Init, TransO000000 DFAOODOOIOO FAOODODOODOOOOOODOOO
O00000000OMO DFAODODOODODODOMOO0DOO0O0O0OOO0O0 LM)DO0OO
gboooooaon

MeM

000 L(M)O MOOOOOOOOO

0000000000000000000000000 [4000LM)000000
000000000LM)00000 FAOOOOOOOOO0O0O000000DFAOOO
MO LM)000000 FADODOOOOMOOOOOOO0O0O0O0O00000000
20000 Init,Trans 1 JAOOOOOOOODFAOOOOODOOOOOOOOODFA
0000000000000 FAOOOODOOOO AOO0 FAOOOODOOOOOOOO
0000000000000000000000000000000000000000
0DFAMOOOOM(f) 00000000 f0000000000000 DFA OO
D0000O0ODFAOOOOOOOOO0OOOOOOOM(S)={M(f)|MeM}.

0000000 1000A00 FADOOOOOOOOOOOOOOOOOOOOOO
afalalalaluluiuls

00 2 A000000000000 DOOOODOODOOOOODO DFAOOO
M = Trans(D,Init(D)) 000000000 f 0000000000000 FA M()
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load,wait shoot,wait

shoot,wait load,wait shoot,wait /Ioa de d/;shoot

(loaded load (loadedshoot

shoot

(a)

0 3.3: (a) Yale Shooting O 00O (b) Murder Mystery D 000000

O0000000000D [ (f after ay;...;a,) OOOO0O0O0OODODOOOOOOM(f)
gbooooodt ar;...;a, UOOOOO

03 A000000000000 POOOODOOOOOOODO DFAODOO M=
Trans(D,Init(D)) 00000000 0D = (initially /) 0000000000000
00000 DFAM eMOOO0OOO000O0O0000O f000000

3.24 00O

033(a),(b)0000 120000000000000000000O0DODOOOCOOO
OO000000 100 DbFAOODODODOO

0odooooodoooooooooooooobooooooooooooogo
000000 3.3 (a)0 DFA O M,0(b)0 DFA O M, 0000 (i) Ma(—alive) D00
00000 load;wait;shoot 000000000000 VYale Shooting 00000 O0OD E
(—alive after load;wait;shoot) OO 00O (i) M, DO0O 00O loaded DOOODODOOOO
00 Murder Mystery 000 0 00O O D [ (initially loaded) O 0 0O O

3.3 FAOO AQO0O0OO

FAD ADO0O0OOOOO0OO0OODOOOO0O0OOO000O0OOOD bFPADDOOOOO
00000 A0D00OODOOD0O0ODODO0O0O0D0O0O0O0ODODOOOD 280000 FADOOOO
0000 DFAOODODOOOOO [M0FAD AOODOOOOOOOOOOODOOOOO
goooo
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RevTrans(M)
OOODFA M = (Q,T,6,q0,G) 00O00OOO D
begin
D := {initially f | f € qo};
D:=D U{acauses fifpr A...Apy|q€Q,aeTl, fedla,q),qg=1{p1,---,Pn}}
end.

034 A00000000D0O000O00CO RevTrans

3.3.1 DFAOOO

Oo00000000O0OO0cO0ODbFACODOOOO0DAODOOOOOOODODOOOODOOO
OoOO0DOOOO000DOOO bFAOOODDOOOODFADODOOOOOOOODODOOO
O0000000000000ODFADDOODODO NOOOOODODODOOOO [leg,N|ODOO
O000000000000DooooDbFADODODOOOOOOOOOO (33)D000O0g

3.3.2 UOU0OOO0OOOOOO

DFAOOD20000 RevTrans[O O 3.400 Compressd 0 350000000 A00O
O000000000000RevIrans 00000 DFAOODAOODOOODODODOOO
OODFADODODOODOOOODODOODFAODODODOODODODOODOO
Compress 1000000000000 O0ODOO0DOODOO0ODOOCompress 0000
gooboooobboobbobuoooobbboooobbbooooboboo

3.3.3 UUOobouoooooobod

RevTrans 0 Compress U0 0000000000 OOOODOOOOOOOOOODO
O00D00000 Compress0 00000 OOO0O

00 4 ADODOD0OO00O0O0 DOODOOOOOOODDO Compress(D) 0000000
goooo
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Compress(D)
ooooooo p OooOoOoOpOoOoOoooooooo
begin
while (D 0000000 DOOOOOO) do
Ei\,Es,.... B0 DOOODDDDOODO:;
1)E; = acauses fifpi A...Ap, (n>1);
if f € {p1,...,pn} then D:= D\ {E};
2)Ey = acauses fifpi A...Ap, (n>0);
Es= acauses fifqi1 A...ANgm (M >n);
if {p1,....pn} S{ar,. .-, am}
then D := D\ {Es};
3)Ey= acauses fifpy A...Ap, (n>0);
Es = acauses fif u A... Agy;
if —pi = ¢; and {p1,...,pi—1,Pix1,-- P} ={q1,---,¢j-1,4j+1,-- -, qn} then
D := (D\ {E4, E5}) U{a causes fif p1,...,pi—1,pi+1,- -, Pn};
4)Eg = acauses fifpy A...Ap, (n>m>1);
if -f=p; (1<i<n)and fe{q,...,qn} 00
st} \ (D) € ({prr- -} \ {~f}) 0000000000
acauses ~fifqgAN...Nq,, 000000
then

D:=(D\{Es}) U{a causes fif pi,....pi—1,pit1,.-.,Pn}
end.

035 000000000000 Compress

00 000)p0000000000000 Compress(D)0000000O00OOOO
O0000000000000#) D00000000000D000000 Compress(D)
OoO0oo0oo0oOoooOo0obDoOoobooooboboOoooDooOon

i) Compress 1 04000000000000000000O0O01) 000000000
2)0000003)div 000004) 000000000000D04) 000000000
OO0000D000D0000 acauses fif-f,g0000acauses —~fif f,gOO00O0O0O
Oo000000obOOo0o0oobOoO0ooooooOoobboOooD -fOobboO0OD

000 1)004)00000000000000000OO00000D0DOOODODODOOO
0000000000000 oooO0o00oooO0o0o0ooo0ooooooooooo
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goooooooooooooooogno

a causes fifpyA...Ap,. (n>1),

fe{pi, . pa}
Compress000 (3.4)0000000000000000O0OOOOOOOOOOOO
0o0oododoooooooooooo ¥ououoox, o X, 0ooooad

(3.4)

o= {on€X[{pi,-. . pa} S o},

Yo = {oxeX|{p1,---,pn} £ 02.}
00000 o,€3, 0000000 (34)000000000000O0O0O0O@B4) 0000
oo 0o oooboobobob o e xy 000
00 (34)00f € ®(a,0) 0000000000000 0000f€ {p,...,pa} 0000
feo 0000000 (34)00000000000O0ODODO0OOY, 0000000000
goooooog
ii) Compress U000 0000000000000 OOOOCOOOD O Compress(D)
O000000000000000000000D O Compress(D) 000000000
goooooooooobbbd O
oodooooooobobbbooooo

00 5000 DFAOD MOODDOMODOOODODOOOOOOODOO D= Compress(
RevTrans(M)) 000000000 DOOOOODOOODOOOOODOOOOMOOOO
gbooboogooood

00 034000RevIrans(M) 000000000000 O0OOOOOOOOOOO
O00000 MOODODODODODODODODODOODOODODODODOOCompress 000
0000000000000 400 D = Compress(RevIrans(M)) 000000000
OoooooooMOOOOODbOOobOOOooOoobDoo O

gostubdgdggoooouooobbbooooooouoooo

00 6 OO0 DFADO MOUOOOMUOOODODODOOODOOODOOODOOO D= Compress(
RevTrans(M)) 0000000000 0O0O0O0OD fO00000O0O0OO0OOOOOO DFA
M(fyoooooO0oO ay;...5a, 000000000 OCOOOOO0OOODODOO

D = (f after ay;...;a,)

gooo
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3.34 0OO0OOO

0000000033 (bh)000000000000O0O000000

initially alive.

load causes loaded.

shoot causes —alive if loaded.
shoot causes —loaded.

initially loaded.

gbbogbobboodgbog20bboodgbboobboobboobbooboogb
OO00000O0mitially 000 0000000000000 O0OO0O0DO0O0ODOO0OO0OO
gb200000000000bbuggbboobbobboogboobboodgb
gbbobuoooobbbuooaobon

00 4000000000000000
03.600000000000000000000000000 [140MW,G,CO00
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000 mw,eec JOMW,GCO0D0O000O000O0

03600000000 DFAODODOOODOOODOODOOODOODOOOODOOODO
OO0000000oooOooooboo0ogoooboob0o0ooboooooOoOooon DFA
OMODOODODOOOOODODOMOOO ADODODOOOOOOOODODOODOOOO

initially M. initially W.

initially G. initially C.

m causes M if -M, W, -G, C
m causes —-M if M, W,-G,C
m causes M if -M,-W,G,~C
m

causes -M if M, -W, G,~C
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a @ @ v

g &8 &8 &8 & & &g g

o

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

causes

O 36:000000000000000

-M
-G

-M
W

M
W

-M
-C

-M
-C

if
if
if
if
if
if
if
if
if
if
if
if

M, -G
M, -G
M, G
M, G

~W,-G,C
~M, -G, C

W,-G,C
M,-G,C
~W,G,~C
-M,G,~C

W,G,~C
M,G,~C
~C, W,~G
M, W,~G
C,W,~G
M, W,-G
~C,~W,G
~M,-W, G
C,-W,G
M,-W,G
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RevTrans U0 OO0 1600000000000 Compressd 000240000000
gbogboobboobobbooobbuoobuooboboobooobooobboon
gboboogobobooooon

OoO00Oo00b0 pOobOoOooOMOOOOOOOOOOOODOOODOOD SsODO
gboooooogn

S={s| Dk (-M after s) A (=W after s) A (-G after s) A (=C after s) }

b0 sdbboboooooboo

3.4 OO

OO0O000AQO FAOOODOOODOOOOOODOOOODODOODOOOOoDoboOooo

341 A0 FAOOODO

A00000000 DOOOf€ fluent(D)00O0O0DOOOD0 fO000000000
LD, )& {s| D= fafter s} 000000000 sO00000000000

gbobobogdo200degdobb20000obobboooooon

007 A0D00000000000 DOM = Trans(D,Init(D)) 000000000
L(D, f)=LM(f)) D000

00 8 00O DFA O MOD = Compress( RevIrans(M)) DO0O0O0OG O M OO0
goooooooon
L) = J (YLD, ).
q€G feq

002000000000 AOODDODOODOODOODOOFADODOODOOODOO
gogoooooooobbbd

O0000OFAOOOOO00O00O0000000037000000000 (14000
0OAD0OBOODODODAODODODOOODODODODODOOOODO BOO
0000000000000 000000000000ADQOOOOOO DOOO (2.2)
gooboobobobobbodooooouoooouon aq..56, DOODDODDODOOOOOO
godooooooobbbbuoooooouooobbobbbbooooooaa

39



ERISGE

03700 A0 FAOODOO

3.4.2 00O0O0O0OO

Oobooboboooooooboobooboboboboooooboo pobobOoOO
O0000000000000000 action®(D) 00O0000OL C action® (D) 00000
well LOODOODODODO0DwOODOO00O LOODOO0ODOODOO0ObOOODbOO0
00 f00000000O0O0O0O0OOOLD,f)00000000OODOOOO0OO0

OO000D0ODO0OD00O0000 10 Yale ShootingD O OO OODOODOODOOOOO
O-clive O0O0D0DO0OO0OO0O0OO00OO0O0DOODODOODOOQR Yale Shooting 00O O
DFAMOOO0OO0OO0O00O033(a000000M(-aive) 000000000000 0OO0O
gboobooggn

L(M(—alive)) =
shoot + wait)*; load; (load + wait)*; shoot;

*.

+ (shoot + wait)*; load; (load + wait)*; shoot;

( ( )
(shoot + wait + load; (load + wait)*; shoot)*
( ( )
(shoot + wait + load; (load + wait)*; shoot)*;
load; (load 4+ wait)*.

OO0000O-awe ODODO00O0ODOO0ODO0ODOOODOOOOODOODOOODOODOOalive
O00D000D00O0O00000 load;shoot O OOOOOODOOO0AD FAOODOO
O000000AO0O00DDOO0ODOO0O0ODODODFADOODOOOOODODOODDOOO
gboooooon
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343 0O0OOOOOO

Gelfond O Lifschitz 0000 900 AD000000000COOOOOOO 8OO
gbobboob0 00000l 000o0ooooobbbbobbouooooooon
00000020000000000000 (similar) 00000000000 OOOOO
0000000000 ADO FAODODOOODOOODOOUODODOOODOOOOOODOO
gbooooogaon

goboobb ~rO00oooobobbbbbboooooobobbobobbboooooo
gbooogaog

f after a.

a causes f if f.

OO002000000000000 DOOinitially fODO00O00O0ODOOOOOOO
0000000000000 (D) 00000000000 holds(f,s0) DD0DODODODODO
O00DAQODO FAOODOOOQOOOODOOOOOO200000000D00000DDOOO
OoO0o0oo0o0obooooopU0DOOOO0DOOO0bD FPAODOOOODDOOO fOODOO

D000 DO CompressU O O00O0O0OOOO20000000000000000O
O0000000000000000000Compress(D)00000007 000000
goo

344 0O0O0OO

Kartha 0000 AODOOOOOOOOPednault 0 ADLOOOOODOO [34]0 Reiter
0000 370 00000000000000000 [16)J0Kartha DOOO0O0O0OOOO
000000000000 DOO0O00OFADOODOODODOODOODOOODOOODO
O000000000000D0Kartha D ADDOOOODOOODOOOOOOOOOOO
guogoooooobbbbbooodgd

3.4.5 0O0OOOO

gbooodbbugbooboobbugoboogbbobooobbooboboo
00000000 “00000000000000700000000000000 [14]
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OO00b00000bob0oboooooboboobouoobobobogndJohn McCarthy
OAID0OD0O0ODOO0OD0DOO0ODOODOO0ODOO0OD0O0ODOO0ODOO0ODOODODODOOOOOoDO
00000000000000000000000000000000000000 (25
(elaboration tolerance) 000D ODOO0ODO0O0ODODOODOOODOOOOOOOOOOODOOO
0000000000000 000000D0000000 FAO ADODODODOOO
o000 100b0b0oboobooobooooooobobobbobooooooDoooon
0000000000000 0O00O00000O000bO0bO0OO0o0DbOOoDOOoOoDbOoDOoA
OO000000o0oobOobooooobobooooboooooooboooooooooo
Oooon

00 ADODOODODOODO0O0O0OD0O0D000000000000 «00O0 cOO0ODO
da,0)=0c 00000000000 00O00ODOADOOOOOODODOOOOOOOODO
O00000 Compress U0 350 0000000000000 ODOORevTrans OO
340000000000000000D0CompressI 00000000 O0ODOOOOODO
0000000 AO00ODOODODODOO0ODOODOOODOODOOODOODOOODOODODOOOD
0000000000000 00000bO0oDO0O0bO0obObDOoOooOOobOOoDOoooOOoDOo
Oooon

3.5 0O4Ug

000000000000 AOD0ODOO0ODOOOO0OO00DADO FAOODOOODO
0000000000000 000000 ) FAD ADODDODOOOOOOODO(G) A
OFADODOOOOODOOOOOODOOODOOOOOOODOODOD ADOO FAOO
O00000OoOoO000o0ADOOO0O0ODOOO0ODOOOO0OO0ODOODODOOO
O0000 FAD AJ0ODOOOO0ODOOOO0O0ODOO0O0O0OooooooOoooD A0O
goboboooobboboooobbooo

00 AQD FADOOOOUODOOOOOUODOOODOOOODOODOOOOOooDo
gbboodbbuoobodbbobbodobboobbobbuoobbooobboob
gbobogdbboobbooobogobbobooobooobbuoboboboboob
OoOoooO00oOo0oopbooOooo0ooooobobo0ooo0ooDbDoOobboU0oOoD ADoOo
gooboooobbbooooobbooo
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040 0O00D0O0O0O0DOOOO NA

00 ACOOOO00000AOO0OO0O0DAOOOOOOOOODODOOOCODOOOO
O00000000ooooooooooooooooooooogg [5,6,10,11,22,39]0
000000000 [3,5,10|00000000000 [11,17,22,39]0000000000
000 [10,12,22,39)00000000000000O0OO

gbobooooobbobbooooobbbooooobbbooooobboooo
0000001) 000000000000 (NFA)DODODODODODODODODOOoODODOOO
00 NAOOOODOO2)00000000000000000000000000000
O00000ooooooo 310

00 AODOODOOOOO00O0O0O0O0ODO0O00O0OO0OO (FA)DODOOOOOooDoOo
OO00000O000O00OO00DOO00O0DOO00b0O0 NFAOODOODOOoOOoDOOooooo
gbobobooogobbodoodan

0000000000000 0000 NMAOONFADOOODOOOODOODOOOOO
00 NMAOOODOOOOOO0OO0000000000000000000oo0o0o0o0oo
000000000000000000000 AR[11]O00000DO0O0OODOODO NA
0000000000000 0o00UONAD ARODOOOOD0OOOOOOOOOO

4.1 OO0

0000000 MAOOODOOOOOOO000000000oo000oooooooo
obobooboobooboobobobobooboobooboobobn

4.1.1 0000

0000000 NADOSKOO (AF,EC,V)DDOOODODD ADDODDOOOODOOOOFR
O000000000000EOOOOO (effect proposition) 000 OC OO O (constraint)
0000V OOOO0 (value proposition) 00000 OO
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00 MAOOOOOOOOOOOO0O00O00000000000000000 FO
00 -FODO00O0O0DO00000FO0OO00O000000O00000000000
000 f0000000000000000 FOOOOOOOOOOOOOOOOO
(V,A,-,D,=)0000000000000

00 MADOOOOOOOOOOOOO0OO00000000000000000000r 0
s0000000 RO SO0D000000000(@+s),(r;s),(r*) 00000000
RUS,RS,R* 0000 OO0 RS={rs|reRseS0000R O RO Kleene O
0000 (400000 »r000000000000 L(r)000000

4.1.2 0O

00 NAOOOOOOOOOOOoOo00OO0O0ooooooooooooooooooo
gbobooodgbobbuoooobbooogn

a causes ¢ | -+ | ¢ if ¥ (4.1)

000 «000000000 ¢, 0000000000004 0000000 ¢; 000
0000000000y 000000000000000r=100000000000
00000000r>20000000000000000000004 0000000
000000000 «000000000¢,,-+-,¢,0000000010000000
000000000000000000000000 ()02000000000000
000AODVOOOOOODOO00000O0O0O0000000420000000000
0000000000000000000000000000000000 f|~f00
00000000000000000000000 fv-f0000000000000
0000000000 (fA-f)V(-fAf)000000000
000000000000000000

always ¢ (4.2)

000 o000D00O0DOOO0DODODLODDOODOODObOOD oD OODDODODO
goooo
goooogoobobboooobboboogonbn

¢ after r (4.3)
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OoOOob0ooboooboobuoobuobobdeebbobbobDoOobOoon

4.1.3 00O

gbobooooobboboooobbb e dobbbooooobbObOOOo
O0O00000D0000D00OO false =—-true D0 0O
0000 41) 0000000090 tue0000000O000000OC0O0O

a causes ¢1 | - | &,

OO00Oa causes Falseif 00000000 DO000O0OOOODOOOOO
impossible a if ¢

0000 43)0000r=¢(00)000000000ODODDOODOOOOOOO
initially ¢

0000000000000 (schema) 0000000000 600000000000
gbooboooobbboooobobboooobobooooon

4.2 0O0OO

00 MAOODDOOOOO0O00000000000000000000000000
0000000000000000000000000000000000 (Q, 4,6, q)
00000000 QOO00O0000ADDOOOOOOOOOOg 00000060 QxA
00 29000000000000000

0oo000000O00oOoooon

000000000 AODOOOOOOODOODDODOO00O0O0O0O0O0O0O0000000000000
gboboobOobooooboobooooobooooboobooboooboOobooon
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4.2.1 0000

U0 ¢qOuoboobtogbboobbogbobooboboobboobboooboo
gbooooogon

o=SU{-F | F € fluent(D) \ S}.

000 SCfluent(D) DOOO

OO0000 ¢0D000D000DO fOOD0ODODOO ¢o=f0000feqObOODOO
000000000000 ¢q0O0 ¢o0000DOOO0O0OODODODODOO ¢ 0000000
00000000000000000000 ¢qU0 ¢ 000000000qE® OO0
gggd

00000 ¢000 always s 0000¢gE¢ 000000000000 000000
q U000 always o 00000000 0OOgEalwayso D000 0O000 ¢qO0O00O00O0
gdodooooooobbbbooooooouoobooooboon

4.2.2 0O00O0O0O0O0O

gboobooogbobboooobboooobobooon
oDog 4,---,A,0000000D0C00DOO0OO

A1X~--XAn:{CL1U"'Uan|a1GAl?'“’aneAn}
0000 P=(acauses ¢ |--+|¢,ify) 00000000 effect 000000
effect(P) = {c(¢1), -+ ,c(én)}

000 ¢;=fin-—Af, 0OOOOc(d)=4{f1, -, fny 00000000000000
0{pP, - ,P, 000000000

effect({ Py, -+, Pn}) = effect(Py) x -+ X effect(P,,)

000 effect(d)=00000
00 NAOOODOOOOO DOOOODOOO0OO0O0O0 000000000 e0O0O0OO
OO0 j000D0D0DOO0000DOsO0000DODOOOO0OO0O

0(q,a) ={qd € Q¢ = (q\ (le[F Ule|7)) Ue, e € effect(P)}
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effect(P) 0000 ¢qO000000O0O0OD0 « 000000O0ODOOOOOOODODODOOOO
O00000000000000000000000000 eceffect(P)0DODOOOO
gbobogdgbbobobodbbuodgbbuobobuooobooboobooobboob
goooo

OOooOooobo 0O00OoboOoboobooboobooooogon S:QXA*—>2QDDD
goo

o 0(q.2) = {q}

o S(Qa wa’) = Ureé(q,w) 5(Ta CL)

000 wOOOODOOOOO0O0O000eO000000000006(q,a)=4(¢a) 000
000000000 6000000000

4.2.3 0O0OO
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00000000
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0000M(¢) 0000000000000 L(M(¢)) 000000000
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000000000000 ) 00000000000000000004)000000
0000000000000000000000000000000000000000
000000000000000000000000000000000000000 P
0 pO0O0O000O0O0O0000O00000O00DEPOOOO
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4.24 000
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Get out

U415 MayOQOQOQOoOoooooooo

00 5 Mary 000 [11]

jump  causes hat | —hat if hat
jump  causes lake

getout causes -—lake

puton causes hat

impossible jump if lake
impossible getout if —lake
impossible puton if hat
always lake D wet

initially —lake A —wet A hat

Dooboodboob41bgboobobooobuooboobobobooboobooon
0000 {felse} 000000000000 0O0O0OOO0ODOOOOOOOOOOOOOO
gboboboooobbboooobobobuoooobobbuoobbbooogn

D E —lake N wet after jump; getout
D £ hat after jump; getout
D |~ hat after jump; getout

4.3 NAOODOOOODOOOO

O0D00D0ONADOOOOOOOODOD (FA)ODOO0ODO0OO0OO0O0O0O0DO0OOOoOOooo
gbbbuooobobbbdoodgbobboooobbboooobbbooaob

49



000000000000000000ONAO FAOOUOOODODOOOOODOoOoDODOoooOo

00 900 MAOOODOOOOO DOOOODOO000000000000 {M,,---,
M, 00000000 ¢0000L(M(¢))N---NL(My(¢)) 00000 FAM(¢) 00
0000000000

D ¢ afterr < L(r) C L(M'(¢))

00 £(Mi(¢)) 000000000000000000000000000000000
00000000000000 140L0M((#)N---NL(My(¢)) 00000000000
0000000 FAOODOOOOOOOOOOO

000000 MAOOOODOOOOOOOO0O0O0O0000000000000 FAD
0000000000000000000000000000000000 330000
00000 FAOOO AD00O0DOOOOOOOOOOOOD0O00000000000 A0
NAOODOOOOOOO0AOODOOO NADOOOOOODOOOO

000000000000000000000000000000000000000
0o0oooo

00 1 M=(Q,T,8q_G 0000 NFAOOOOMOOOOOOOOOOO0OO
L(M) ={w eI [d(q,w) C G}

OODFA M’ = (29,T,¢§, {q},2¢) 00000
L(M") = {w e T* | §({g}, w) € 29}

00000000 0000000000

(5((]1,&) u---u 5(Qn7a> = {pla e 7pm}

gbooboooobbooagn

0'({ar,- -+ an}a) ={p1,-++ , pm}

000 g,p; €Q,acl’ 0000

20



00 0000000 we*00000000000000000006g0,w) =& ({q},w)
0000ooOooooooOOOMO MO000000000000000000L(M) =
L(M)OOUODODODODDODOOOOO0000o0o0oooD wOODOOOOOOOOO
Jw((w & L(M)) ANw € L(M"))V
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b 6 DOOOOUO

open  causes opened
open  causes true | ringing if on(alarm1)V on(alarm2)
get  causes jewel if opened
cut(X) causes —on(X)
impossible open  if opened
impossible get if —opened V jewel
impossible cut(X) if —on(X)
initially —open A —ringing N\ —jewel
initially on(alarm1) A on(alarm2)
gobouoooboogooooounggoobbgooooouooouogooon
000odooooooooooooo pooooooooooooooooooooo
gooooooooooog r,r, 0000 oon

D |~ jewel A —ringing after rq
D E jewel A —ringing after ro

mUddgdobobobgooooobobuoooouooobourguobobbga
oboobooboobooboobo

0000000000000 000000 DOODODO MOOOO (OD42)0M0O D
00000000000MO0O0000000 M(jewel A—ringing) 0 NFAO OO OO
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Op,-Rg,Jw Cut(Alarm2) Op,-Rg,Jw

/ On1,0n2

Op,-Rg,-Jw Op,-Rg,-Jw

On1,0n2

On1,-On2

Get

Op,-Rg-Jw

-Op,-Rg,-Jw -On1,0n2

Cut(Alarm?2)

On1,-On2
Cut(Alarm2)

-OpRg,-Jw
-On1,-On2

Cut(Alarm1)
-Op,-Rg,-Jw
-On1,0n2

Op,Rg,-Jw

Cut(Alarm1)
Open

On1,-On2

Cut(Alarm2)

Op.Rg,-w Cut(Alarm2)

Op,Rg,-Jw

On1,0n2 Cut(Alarm1)

-0On1,0n2

Cut(Alarm2)

Op,Rg.Jw
Cut(Alarm1)

0On1,0n2

042 00000

4.5 UO00O0OO0O0OOOOOOOOO

gbogbgoboobooboobobooboboboboooobobobooboon
gbobooguogoboodbooboogbboobbuoobboooobooobogb

gooooog
forward causes p(X,Y —1) if p(X,Y)
forward causes p(X +1,Y) if p(X,Y)
forward causes p(X —1,Y) if p(X,Y)
forward causes p(X,Y +1) if p(X,Y)
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Cut(Alarm1)

Cut(Alarm1)

On1,-On2
A N\
Get

Op,-RgJw

-On1,-On2

Cut(Alarm1)
Op-Rg.Jw Cut(Alarm2)
d -On1,0n2
Get

Op,-Rg,-Jw

-On1,-On2

Op,Rg,-Jw

-On1,-On2

Op,Rg,Jw
On1,-On2

Cut(Alarm1)

Cut(Alarm2)

Op,Rg,Jw

-On1,0n2

-On1,-On2

Op.Rg.Jw

An A —obstacle(X,Y — 1)
A e N —obstacle(X +1,Y)
Aw A —obstacle(X —1,Y)
A s A —obstacle(X,Y + 1)




Cut(Alarm1)

On1,-On2

-Op,-Rg-Jw
-On1,0n2

Op,-Rg,-Jw
On1,0n2

Op,Rg,-Jw

_~Open

Cut(Alarm2)

Op,-Rg,Jw
0On1,0n2

Op,Rg,Jw
On1,0n2
Cut(Alarm1)

Op,-Rg,-Jw
On1,-On2
Op,Rg,-Jw

On1,-On2
Cut(Alarm1)

Op,-Rg,-Jw
-0On1,0n2

Op.Rg-Jw
-On1,0n2

Cut(Alarm1)

-On1,-On2

043 00000000

-On1,-On2

Op,-Rg.Jw
0On1,-On2

Op,Rg.Jw
On1,-On2

Op,-Rg,Jw
-On1,0n2

Op.Rg.Jw
-On1,0n2

Cut(Alarm1)

Op,-Rg.Jw
-On1,-On2

Op,Rg,Jw
-On1,-On2

Op,-Rg.Jw

-On1,-On2

sense causes obstacle(X,Y — 1) | —obstacle(X,Y —1) if p(X,Y)An
sense causes obstacle(X +1,Y) | —obstacle(X +1,Y) if p(X,Y)Ae
sense causes obstacle(X —1,Y) | mobstacle(X —1,Y) if p(X,Y)Aw
sense causes obstacle(X,Y + 1) | mobstacle(X,Y +1) if p(X,Y)As
left causes w if n

left causes s if w

left causes e if s

left causes n if e

right causes e if n

right causes s if e

right causes w if s

right causes n if w

always nVeVwVs

always \/ p(X,Y)
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1<ij<k

gboooaog alwaysz(X,Y)DDDDDDDDD 10b0booogbooboooon
gbooodgo
gooo44000000b0b000ooboboooon

initially p(1,5)
initially —obstacle(1,4) A —obstacle(2,5) A mobstacle(5,2) A —obstacle(4, 2)

initially obstacle(1,2) A obstacle(2,2) A obstacle(4,1) A obstacle(5,1)

gboogboggbboodbbugbuoobooboooboogbbuoobbuobboob
gbbbuoogbobbboooobbobuoooobbbouoobon

ODO0000 sense 00000 0O0O0OO0OODOO0O0DOODOOOO0OO0OOOOODOODO
0000000000000 0000000000 (obstacle | mobstacle) 000000
00000000000000 (forwerd) D000 000000O00O0O0OOOOOOOO
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left; forward; right; forward; left; forward - p(5,1) 0000
goooodd

gboboodbbugobboobbuoobbuodgbbooobbuoobbooobbo
gbobogdbbooobboobbogbbobbuoobbuoobbuoobooobboon
gbbogdbboobboobobooouoobboooboogbbobooobbogb
gbobobooodgbobbod
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0000000 AR[11]00A0DO0C0OOODODODODODOOOOOOOODOOOOOOO
0000000000000000000000000O0000 NAOODOOODOOO
00000000 AROD0ODOODOODOODOODOD0O ARODODODODODOOODOOO
ONADDODOODOOOOD

e UUDUODLOODLOLDDODLDDODLDOLOODLUODDLOODLOODLOODLbOODLOD
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e JOUIUDDOODODODOOLDOODN possibly changes 10000000 OOOO
goobboogobbouooobbodao

D000 ARODUDOOONADODODOOOODOOOOO
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e NAOODUDOODODODODDAROODOODDOODOODOODOOOODO?O
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0000000000000 00000000000000000000O0DDOODODODODOODOOO0
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4.6.1 AR OO NAO

00 ARODODDODD0O0D0 Dar D00DONMADOOOOOOD Dyy 0000Dugk O
0D O0O0OOD0OODOO0O0O0OO00O000000000000000000000000
0000000000000 000000000000000000000000000

() 000000000000
D, 00000000000000O0OOOOOOD FOODODDDDDOOOOOO
0 A0D000000 FeFy,ac ADDDODODOOO

a possibly changes F

U D 0000000000 D4r DODODOODOOODOODOOODLOODODOO
gogoooogo

(2) 00000000000
D 0000000000 O000OO FOOOOFOOOOOOOOODOOOOO
0000000000000000000 Rugp = {Vi,Va,---,V,} 0000 Dug O
00000000000 FisV,0000000000000000 K, 00000
00000 DWe 00OD0O0ODOOOO

always Fy, V Fy, V --- V Fy,

(3) possibly changes 0000000000
Dy 0000000O0O0O0O0ODODOD « D000 00O0O0O0ODD0ODDD0O0O0O0OeOOO
000000 possibly changes 0O 00000

a causes ¢, if ¢

a causes ¢, if ¥,

a possibly changes F7 if 0,

a possibly changes F,, if 6,,
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goboobuooboobobbobbo poobuopbbOobbOOsbOOO

Resp(a,s) = {s1, -+, sk}
Uobobobuoodb Dya D0 og
a causes c(s1\s) |-+ | c(sg \ s) if c(s) (4.4)
000O0t={F, - ,F}0000ct)=FRA---AFODODO
(4) 0000000000

D 0000000000000 0DO00000000000000000 Dy
0000000

gbooooggoobogo

00 11 00 AROOOOODOOO Dypr 0000D: 0000000000O0000
0OMAOODOODOODO Dy 00000000000

Dar E ¢ after ai;--- ;a, < Dya = ¢ after ai;--- ;a,
00 ouooooooooooooobogn

(1) 00 ARODOOODOOO0O pOOOOUOOOD10DDODODODOOOOOOOOO D
gobobbodogubobbooooobbbbuddd e o4
000 Resp(a,o) = Respr(a,0) 00D DO00O0O0O

U000 Resp DOODOODOOOOODOOOOODOODOODOODOOOODOOOO
gboooobbooooboboob ebOobO0O0ObObDOODLDODODOO FOO
000000 o' € Resp(a,c) D0O0DODO0O0ODO VeRyOODODODOODOOODODO

D'0000 FOOpossibly changes 1000000000000 000000OO
00000000000 ((a) ResY(a,0) = ResY,(a,0) 0000000 (b) New$, OO
0000 (2000 FOOOOOO Resp 0000000000000000000
000 FOOOOOOODO o € Respr(a,0) 000000000 V € Rngp, 00O
0000000

(2) AROOOD0DO0DOOOOO0OO0OOOO0OOOODOOOD0ODO0OOOODOOOOOOO
gobbooougbobbuooggbboodobbooobboobobbuoooboo
ggbbobuoooobbbuoooobbboodod
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goboboobooooooboboooobobooboobobooboboboog D
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{o1,---,0,) 0000000000
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4.6.2 000

00 ARO00D00D0 300000000000000000 NADODOODODOOO
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Jump  causes Lake A Hat | Lake N —Hat if —Lake N Hat
Jump  causes Lake if —Lake A —~Hat

GetOut causes —Lake if Lake

PutOn  causes Hat if —Hat

impossible Jump  if Lake N\ Hat

impossible Jump  if Lake N —Hat

impossible GetOut if —Lake

impossible PutOn if Hat

always Lake D Wet

initially —Lake N ~Wet A\ Hat

gbobuogoobobogobboooobbooobbooobboooob 41000
gboooboodgg
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4.6.3 NAOO AR O

00 NAOOOODOOOoOoo0o0o0oo0oooooooooooooog AROOO
gboboobooogobobooon
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000000000000 0000O00000000 e, 000D00OO0OO0ODOODOODOODO
0000000000 DpOOOOODODOODODOOOODODOD

a possibly changes f if ¢

(4.6)
always - f = —¢g

‘0000000000 000000000000000000000000O0DNONDDODOOODDOO
gooobooogn
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045 ARO0O0O00O0OOOOOO

goo

a possibly changes f if ¢
a possibly changes g if ¢ (4.7)
always (f Ag) V (=f A —g)

000y b s 0bobooboobobbobooboboobooboboboon

Resp(oq,a) = {01,09,03}
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O004.5)000000000000000000O0 ARODOOOOOODOODOOOOO
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a causes (fAg) | (=fA—g)if fAgAY

a causes (fAg) | (=f A—g)| (=f ANg)if =f A—g Ay

000 ¢ 000 oo 00000O000O00O0DODOOO

4.7 0000
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lake suffice for wet
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NAOFAOOOOOODOODODOOOOODODOOOOONFADOOOOOOOOOOOO
0000000000 bFPACOOODOOOODOOODOOOODOOODODOOODO

gbogdgbogoboodgbbodgbbodbbodobboobbuoobbodooo
gbobogobbogobboobbobbuoobbobooobooobboobboob
gbooboooobood
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00000 NAOOOODODOOOOOODOO0O0000O0o000o00oooooooo
00000000000 00D00O0000OO00DODO00DOO00oDoO00DD AROD
00 NAOOOODOOOOoooooooooo
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s OUOOOUOoodoond AMP

gbobogobbooobbooobobbooobobooobbooobbo23bb0d
O0000000 SATOOOOOOoOoOOoOooOoOooooOoooooooogoooo
gbooodgo

godbgbbobobooooogbgboboboboboboooooobobo
OOob0oOooboooooobooooboooboooboooobDbbOOnDbdGelfond
O LifschitzOOOOO0O0OD0 AODOOOOOODOAOQOOOOOOOOOOOOOOO
O0000000000O0000oooo 1noooooooooooooooooooo
gbboggbogobdbbodbbodobbodobboobboobboobboob
gbooobooobobboobooobboobbuoobbooobooobboon
goo

OO0O000O0O000O00o0o0oOooo0oobbo0ooDoOooD sATOo0oDoOoooo
gboogboobogbbuogobdgoogbbuogbboobboobbooobobogb
Oo0O000O0000oo00oDOoOoboOo00oo0oooOobooOO SAToOhoooooo
0000000000000 000000000000O0O0 AMPODOOOO [33]0AMP
000000 00 AODODOOO00OOOO00ooooooOoooDooOoobooboOooDboobooo
gboobbobodoodobobbooodbbboooobbo

000000000000 0D00D0ODOGraphplanO Blackbox OO OO STRIPS O
gbobogdgboogobboobbogbbobooobobobooobboobboob
OO0o0o0oooooboo0o0ooobb0 Aoooooooooooooboooooooo
Oo000OoOoO00ooOOog0oooOd0 “sobbooobo”’obooogoooDAO0ODDOO
gbbogdgbobobooobboooboodgbboobbuoguooobboobboob
gbobogdbboobbuoobobobuoobobooobooobboobbuooobon
Oooobobobooooooooooobobobo AMPODOOD 1ODODOODODO
gbbbuoodgobbbouoooobbodo

AMPO Java DO ODOO0OD0O0ODOOBlackbox DO ODOOODOOODOOOOOODOO
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Domain Description | rapf = i sgatrl eNE o [ Satisfyin S
Ption |'Graphr 1| Planning | Sat CNF fing [ Bceade. Models
‘Expansion|  Graph [zCompile-] s Assignmentl S >

Symbol Table

(a) Model Generation

If unsatisfiable
Initial Condition Lo N e simnn ri S
. B e N | = Tt Saﬂs Ng |
Goal Condition _,._E_faph_ v Planning _.gap e CNF_,I'Sat Solve: &, Decode::|—» Plan
Effect Propositions | j‘p_af‘s_“’ﬁ Graph | _Om _'E. dromnion] Assignment [rinonini
Symbol Table
(b) Planning

O 51 AMPODOODOOOOO

coooooooooooooAMPOODODOOOOODODOOOO JwvaODOOD
OooOoOo00o00ooo0o0o0o0oooooooooooobooooAMPOODODODOO
ooo0ooo0o0oOooooooooooocooOogooOg AMPOOODODODOOOOOO
0000000000000 0000000000 GUI (graphical user interface) O 00O
oooo

5.1 AMP

0000000000 AMPOOOOOOOOOO (b.1)DODOODOODODO DOOOO
O0O00OOAMPOODO DOUOOOOOOOOOOOGSGL (UODOOOOODODODOOAMP
gbuogobogobobbuooobobbooobboogsbbuooobboogn
ooboobooboo

D = ¢ after ay;...;ap, (5.1)
D = after X (5.2)
D | X after ay;...;a, (5.3)

O (b.1)0D0D00O0000 ay;...30, 00000 0000000O0D0OOCOOOOOO
00000000000000000000O0000O000D (.2) 000000 v OO
000000000000 XO00OOoooooooooooooooooooo (s.3)00
gboobodbas;...;e, DO0O00O0O0OO0OODOOO0OOOOO0OODOOOOODOOOODO
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ooobooboooboooobooboobobooooboboobboobooobboobooOoAMPO

051(b)000000000000O0O0O0O0ODODOOOOOOOOODOOOODODOOOO

gboboogobobooooon
gbobbuooobobbbdooobobbbooodobobboaan

5.2 OO0

O00000000O0OO0OOO0000 o000 ¢00000 o700 32100
goobooooon

I'=(®,0")

000000000000000000000000 (@, {loaded}) O O(®, {loaded, alive})
0 (@, {loaded, —alive}) D000 00000000000000 /0000000000

DO0OO0OO0O000000/0000000000AMPOOOOOOOOOOO0O
0000000 A000O0O0C0OODOO0O00000000

a causes € if p’ (5.4)

000 «0D000O0O0O0De,pO0O000O0OOO00O0ODOOOO0OOODOOOODDOOO
00 AD0O0DO0ODOODO0OOO0ODOOO031 000000
00 ADDO0OOOODODO0O0 eO0DOOO0ODODOOOOOODDOOODOOOO

a causes ¢ if p,

a causes ¢, if p,.

gboogobboobboobboooboobboooboboboooboobboon
gbobolgggooooogd

a; causes €] if pi,
(5.5)

a, causes €, if p,.

!0 (4)000000000000000000000000D0D00000D0DOO0O0O0OOOOOO00
oboooboooooogn
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AMPODOOOOOODODDOOOOOO (partially ordered plan) 00000000000
0000000000000 AODDOODDODO0ODOO0ODOO0D0O0000 54000000
(5.5) 0000000000000 e 00ODDOOOOOOOOO

AMPOOODOODOOODOODOODOODOO 23200000 GraphplanOOODODO
goddddbbbbdddddddddooooooooooooooooo
Ooo0oo0obooboobooooboobooooboooo AMPOOODOOODO
goooogoogd

000000 (mutual exclusion relation; mutex) 00 0000000000000

e 00U 0 2000000O0O00O00O0ODOOOODLDDODOO

1. 000000000000000000 (inconsistent effects)0 00 00O
2. 0000000000000D0000000 (interference)J 00O O
3.200000000000000000+:—-1000000000000 (com-

peting needs)O

gbbooobbdd edbbbooobbbooobbbuooobbuoodgbbo
OO0 2000000000000000D0 ADODODOOOOOOOOOODOODOO
gboboboboogoobbobooooobbobbuoooboboobbooooboooo
gboboooodaon

shoot causes —alive if loaded

shoot causes —loaded

00 A0 ®(shoot, {loaded, alive}) = {—loaded, —alive} DO OO0 D0O00O0O00O
e U 020000000000 LULOLLOODLOOODLDDOOO

l..ooobbooogbbbuooobobn

2.00000b0000 »—10000000DO0O0ODLOODOOO0ODLDbDOg 2—-1
0000000000000000000000 (inconsistent support)O
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5.3 UOoOOnO

Ooooobooooboooo0ooboD AOoOoDboOooo poobDboOoOoDOoO
OoOOob0 Ioboobobob pooobuooboobobooboooo

¢ after ai;...;a,. (m>1) (5.6)

pDOoOdoo0bo IobobobOobobobboOoboobDod

I={(®,0))},  where of = U {fi.... fi%. (5.7)

(initially fiA-Af;)€D

0000000 ¢00DpO000O00000O00O0O00OO000O0ODOOOOOO0OO(®,0p) 00O
pDO000000O0o0obOOoOoboDoobOooDbOon

00 DOO (5.6) 0000000000000 0COOOODODODODOOOOOOOOOO
Oo0Ooooooooooono

0000000000000 000000000oDOoODOOo0ooooO (se)DD0DOOO
000000000000 0D000b00bO0oDO00bO0obO0oDOo0oDbOO0obOoboDOooOoDOo
OO0ooo00oboooooobo0oboobOoobobobooboooooobooboooy
ooobooobobobooboooboboboooboboboobobouoobobo
Oo0o00ooonD fO0 -fO000000OO0DOO0ODOOODODOOOOOODOOOOO
ooooboo fO~f000OD00OO00O0ODO0ODOOODODfO-fOODOOODODO
0000000000000 0bO0O000“000bO0o0o0bOoOoOo0oDoooooOo” oo
Oo0oooooooooon

Oooboooooboooobobboooobobuooobobboooboboboooo
a;;...;0, 0000000000000 O0ODODDODODOODOOOOOO (56)00¢00O
o000 ay;...50, 0000000000 0000000000 0O0ODO0OOe0ODOO
0000000000000 000000D0DO000O00DO000DbOO00ODODOO0 SAT
OO0D0D0D000SATODODOO0ODOODO0ODODO0ODOOOOO0O0OO0OOgn

000000000000000000000000DOO0O00OO (b.6)D000O0O
O000ooooOvyooop =D\yoooOoooOooooooooo vevoooov
Oo0ooooooono Iy booobo4000oboooboooboobooo

Iy = ModelExtract(D’, SatSolveAll(SatCompile" (Expand™ (D', V)))).
guogdgoooooboobbbbobooooooad
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(1) DO VDOOOODODODODOOOO GyOOOOoOOO 5.200

Gy = Expand™ (D', V)

(2) Gy O SATOO P, O00D0OODOO 5500

Py = SatCompile™ (Gy)

(3) P, OODODOOO Jy 0000

Jy = SatSolveAll(Py)

(4) J, 00 VOOOODDODOOOOO L, 0000000 5.600

I, = ModelExtract(D', J)

000000 SatSolveAl DD ODO0ODOODOODOOOODOOODOODOODOODODODO
OO0 SATOOOOOO0DOOOOO0DOoOOO AMPOODOODO SATOOOODDOOO
000010000 Satz 20000000000

ooboobooboboboboobooboobooboobobbob0 pooboOooo
roogooooon

I= ﬂ]IV.

Vey

gooo
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Expand™ (D, V)
0000000 DOOOOO V = (¢ after ai;...;an)
oooviooooooooooooog &
begin
oooo0 {f,....f, 00000000 ¢=1{g1,...,9m} 000
GUOOO0O0DO0OOOonDooooaon
G = AddFluents(G,{f1,..., fn, 2 f1,---,fn},0)
G = AddFluents(G,{g1,.- ., 9m, g1, -, Gm }, 1)
fori=1ton
P=a; 00000
/* 000000000000 ooooooo =/
for all p e p
if p& Lo;_o and —p & Lo;_o then
G = AddFluents(G, {p, —p},0)
for j=1toi—1
G = AddAction(G, no-op(p),2j — 1)
G = AddAction(G, no-op(—p),2j — 1)
end
end
end
/ 00000 a OOO */
G = AddAction(G,a;,2i — 1)
/* no-op ODOOODODOOO =/
for all f € Lo;_»o
G = AddAction(G, no-op(f),2i — 1)
end
end

end.

052 00000000000000000000000 Expand"
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AddFluent(G, f,1)
000000000 bOO00 Guoboodoo fOoooooon s«
Joodooooooooboooooo G
begin

Li=L; U{f}

for all f' € L;

if f' # f then
fO fO000000OO0OOOOOO
end

end.

AddFluents(G, F, 1)
000000000000 GOoOOooOoooog FOooooooon 4
goobobooboooooooooooo G

begin
for all f €¢ F
G = AddFluent (G, f,1)
end
end.

053 0000000000000 00000O0OO0OO0DO0O0O0O AddFluent

AddAction(G,a,1)
000000000000 GooOOdodn «00oooogag 4
dobooooooooobooo G
begin
F=a00000
€=a 000
ifpCL;iand L; 0000 pO00020000000000000 then
L;=L;U{a}
for all o' € L;
if a’ # a then
el ¢ 0000000 OOOOOO
end
AddFluents(G,é,i+ 1)
end

end.

O54: 0000000000000 000O000O0O0OO0ODOO0O AddAction
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SatCompile™ (G)
dooodoodooodgd @
OOOSAT OO
begin
00000 {f,....f,) 00000000 {g1,...,9,} 000
[=GO000000
GUOOOODOOOOoDOOo SATOOoOOoooOd
() DooboooO0O0 o0O0U00O0OO0ODOUOOUDOODOODOOOD!ODODOUOODODOO
FON L ANFING A NG,
(2000000000000 0OO00OODOOOO e,bOD00OO0OOOOOO
—a' Vb
(3000 «000000 «00000000 py,...,p, 00000
a Opit AL Apt
(40000000000 fOO0fO0OO0DODOODOOOOOO:—100000
00000 aq,...,aq, 00000
fioaltv.. vat
(5) no-op 00O O0UO0 000000 «0O0ODOOO py,...,p, 00D00O0OO
dooooooooooo
pifl/\.../\p?;lDai
end.

055 000000 SATOOOOOOOO SatCompile
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ModelExtract(D, J)
00oo0oooo posAToOoooog J
00000000000 (&,00)
begin
doooobooboboooboobobono eoobd
oo={p* €J|z=0}
return (P, 0p)

end.

ModelExtract(D, J)
0000000 posSATODOOOOOOOJ
gobooooooobooo 1
begin
0o0ooobooboboooboobobono ¢0onoo
for all J €]
I =1U ModelExtract(.J)
end

end.

Ob56: 000000OO0OOOO ModelExtract
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5.3.1 UUOUOUOOOUOooObOooObOO

Jooddoooobbbbboooooooooooobboobobon
U 13 ddggoooooooooobog
initially ¢,
OoOooooboo pooobOoooobooo vboooo
V = (¢, after ai;...;a,)
bu{v}OOOO0OOOO I0D0D0OOO0OOODOOOUODODUOODODODODOD SATOOO
P = SatCompile" (Expand™ (D, V))
obhopPODL0OO0ODOOOJJOODOODOOO
Extract(J) =1

gooo

OO0 00 A1000

5.3.2 0UU

OO00O00O000000o0D0oDbOo0O
00 7 Yale Shooting D OO0 0

load causes loaded.
shoot causes —alive A\ —loaded if loaded.
—alive after load; shoot.

initially —loaded.
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O 5.7: Yale Shooting 00O O0OD0OODOOODOODOODO

D00000 Expand” 0000000 0000O00O0OO570000000000
OO00200000000000C00D0000O000DDOOODOOODOOO SATOOO
gbooboooooood

—loaded” A —alive®
—load" V ~no-op(—loaded"))
—no-op(loaded)* V —no-op(—loaded)")

—no-op(alive)' V =no-op(—alive)')

A

A (

A

A (—shoot® \V ~no-op(loaded)?)

A (—shoot® V =no-op(—loaded)?)

A (—shoot® \V ~no-op(alive)?)

A (=no-op(loaded)® V —no-op(—loaded)?)

A (=no-op(alive)® V ~no-op(—alive)?)

A load’

no-op(loaded)' > loaded®)

no-op(—loaded)" > —loaded®)
(alive)' D alive")

no-op(—alive)' > —alive?)

shoot® O loaded?)

loaded® > shoot?)
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no-op(loaded)® > loaded?)
no-op(—loaded)® > —loaded?)
no-op(alive)® > alive®)
no-op(—alive)® O —alive?)
loaded® O load' V no-op(loaded)")

—loaded® D no-op(—loaded)")

(
(
(
(
(
(
(alive® D no-op(alive)")
(malive® D no-op(—alive)*)
(alive® D no-op(alive)?)
(malive® D shoot® V no-op(—alive)?)
(loaded* D no-op(loaded)?)
(=loaded* > shoot® V no-op(—loaded)®)
goooooooooodd
I = {(®,{~loaded, alive}), (®, {—loaded, —alive})}

gooo

54 UO0O0OOOO

AMPOOOOOOO0OODDDOODODOGraphplan0 000000 0OOOOOMOOBlackbox
gboobooobobboooobbbooobboboooobbbao

e JJ0DDUOODOOUDD ADDUOLDDODUDDOUOODDOSbB20000

e I UOOO0ODLDDODOOUOOOODLDLDDOUOOODLDLDOOOUODLDDLDbDDUOOO
OO0O00000D00O00D SATOo0O00OoDooooooOgs9nbOO

AMPOODOUODOUODODOOODOO SearchPlan OO 580000000000 OO0O
SatSolve U U DO O0OOO0OODOOOODOOOLOOOOOOODIO0D0O00O0DLOOO
SATODO0OO0OO0O0OO
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000000 SearchPlan 000000000 ADDODOOOD DOOOOOO ¢0
0000 9000000000000 (0000009 00000001/0000000
000000009 O00000000000000000

000000000000 SearchPlan 000000000000 100000000
0000000000000000000000000000000000000000
0000000“00000000000000000000000700000000
000

0000 PO0O0O0O0OOOOO0O0O0O0O0O0000 S= {001, ,00,} 0000

(1) D0DO0D0000010000000 09, €%, 000000000000000 X0
ggn

(2) D0DO00O0O0 SearchPlan 0000000 XOOOOO
X = SearchPlan(D, oy, ,1)

gobbuogobbduoobuooobboobbuooobbooobboooboo
gogoobobooodon

(3) 00000000000 0p; €, 0000000 X0OOop, 0000000000
googbuoobuooboobon

(4) 00000000000 0C0OO0O0OCOOO00DOODOO0O0OODOO0OOCODOOOOO
(5 D0 0O0O0O0OODOOODOODO(2)DODODDODOOODOOOODOOD

e J0IDDOOO SATOOODDOO SATOOOODDOOODOOSATOODO
OoO1000oooooo

e OO0 DLOUOODLUDLODODLDLOODLOLODLOODLOODLOODOODODOD

gbbogobogobbooooobbodobboobboobboobboobboob
gboobogooon

77



SearchPlan(D, ¢, ¢, 1)
0000000 DOOODOO o0 0D0O0O @, 000000O000DO0O0O 1
gooooo
begin
GUOOO0O0DOoOOoOoDooooooon
G = AddFluents(G, ¢, 0) /+ 00000000 =/
1=0
forever do
/ 000000000 =/
ifyClo,and Lo, 0000 o 0000 20000000000000 then
P = SatCompile” (G)
J = SatSolve(P)
if J # () then
return PlanExtract(J)
end
end
if ¢ > [ then /* 0000 1 %/
return ()
end
/ 000000000000 DOOa =/
for all a € action(D)
F=a00000
if pCLloy;and Lo, OO0 O pi OOOD 20000000000000 then
G = AddAction(G,a,2i + 1)
end
end
if00000D0 10000000000 then /* 0000 2 */
return ()
end
for all f € Ly;
G = AddAction(G, no-op(f),2i +1)
end
i=1i+1
end

end.

058 00000O0O00O00OO0O0O SearchPlan
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SatCompile” (G)
000000000000 G
O0O0SAT OO
begin
ooood {fi,...,f, 00000000 {g1,...,9m} 000
{g91,...,9,»,} 00000000000000O00OO0 GOOOOOOO G'O0O0
I=¢G'000000
G'0000000000 SATOOO0O0000
() 0oooOoooo 000000000 000000000 (00000000
ON L ANFING AL NG,
(2)000:000000000000000000 «,b000000000
—at V bt
(3)000 000000 «00000000 py,...,p, 00000
a opit AL Ap?
(40000000000 fOO0fO000O0O0OOOOOd—100000
00000 ay,...,e, 00000
fioaltv.. vat

end.

0590000000 SATOOODODODOOO SatCompile”
5.4.1 0UO0U
Yale Shooting 00O 00O 10000000000 O0ODOO0ODOODO XDOOOooooo
D = —alive after X

Yale Shooting 000000000 1000000000000 {-loaded, alive} OO ODO
000000 SearchPlan 0000 4000000000000000000O00O00 5.11
0000000 4000000000000000000000000-alivee LyO0O
000000000000 SATOO0O0O0000000000000000000000
O —alivet, shoot®, loaded?, load' 0000000000000 DO0O0O0OOOOOO

—alive*
A (—alive* O shoot?)
A (shoot® D loaded?)

A (loaded® > load")
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PlanExtract(D, J)

000oooo pOSATOOOOOO J

oooooog

begin
A={p'cJ | pO0OD000000OCpOODODOOO}
ADDODOODODOOODOOOODOOO0ODODO000000 &,...,d, 0000
000000 «,...,d, 0000000000000000000 &®,...,6, 0000
return b(l),...,bln

end.

O 5.10: 00000000000 PlanExtract

0 1 2 3 4

00 5.11: Yale Shooting OO DO ODOOOOODOODO

0000000000 X =load"; shoot> 0000

5.4.2 0OOOOOOO

AMPOODOO0OO000000000000000O0OOOOOODOODODO (CWA)OOO
O000000000CWAOOOOOODODOOOODO0Ooooooooooo 4010

oooobooog s goboobbooobbbbooobbboooono mFO0OODbDDOOO
L, 0O F-F00000000DO0O0DO o00bO0«—1000000000O0 =F
000000000000 00000 ne-op(-F)00000%0

gbooodboobogobooogbboobbuooboobboobbuooboboo

FO0000D0+00000000000000000000O0O0ODOOOOOOOO0DOO0O000000
uboooboooobooboooooboooono
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gbbobuoooobbbuoobobbbooobobbod

Oo0oo0O0o0bO 00000000000 b00oO00O0bO0Ob0DbO0 fObDOODOOD
L,,O0 f-~fO00000D0O000O0OO0ooODOODO.—10000D000000O f,~f
O00000000000000000 no-op(f) 0 no-op(-f) 000000000000
gbooodgbbg20bboodgbbugobooobbobboobbooobbogn
gbbobooobbboooobbbuoobobooon

5. OO OOg

OO0 A0D000000000000000AMPOOOOOOOOO00O00O00O0O0OO
Dbhoboodbooobooboobobboboobooo

shoot(X) causes —alive(Y) A =loaded (X) if turkey(Y) A loaded (X). (5.8)
initially —loaded(guni1) A —loaded(gun2).

initially turkey(1) A turkey(2).
0 (.8) 0000000000000 DOODODOODOODOOOODO

gunl) causes —alive(1) A —loaded(gunl) if turkey(1) A loaded(gunl).

(gunl) (

shoot(gunl) causes —alive(2
(gun2) (
(gun2) (

) A
) A =loaded(gunl) if turkey(2) A loaded(gunl).
shoot(gun2) causes —alive(1) A
) A

(gunl) (1) (gunl)
(gunl) (2) (gunl)
—loaded(gun?2) if turkey(1) A loaded(gun2).
(gun2) (2) (gun2)

gun?2) causes —alive(2) N\ —loaded(gun2) if turkey(2) A loaded(gun?2).

AMPO Java OO OOOOOOOOOJavaODOODODOODOODODOODODOOOO
ooboobooooooobobobooAMPOOODOOODODODODOOOOODO
ooooooobooobobooo AMPODOODDODOOD1O0DOODOODOODO
OoO00oOo00ooOboO00ooooobo0o0ooOoOoboo0oDoOooboDoOg AIOODOOO
goooboooobobbooooboon

5.6 AMPOOUOOOODOOO

AMP OO 5.12 000 GUI (graphical user interface) OO0 0000000000000
goboooooooooooooo
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gboooodgoboood

gbooobogg

AMPOODOUODOODOOOOODOODOO

gooooogon

5.7 UOUOO

OO0O0O0DO0DAMPOOOUOODODOOOODOODOOODDOOODOOODOOODDOOOOODO
Blackbox 0O D0ODOOOODOOOODO3O

O000o0o0ooboobooboooboooonooD 5.100Block-120 700000
0000000000 b00b001200000000000DO0O0ODO Block-large-a O
ogUuooobbboooooobboodUo 120b0b0b0bU0o00D0OoUoOobOboboD
ooobodbobuoodbbooubtooobodb 1oobboobooobbooo
gooboodo1bbbooobbi1boood

O510000000000000000D00DO0O0D000O00DO0O0OSATOOOOD
boobodboobbodbbuooobbodbooboboobbooobbooobbUoo
gboogobooobboobboobbooboboobuooobooobooobon
Oo0oodbobooobboobboobobtooobboobobuoobbooboboboo
SAT 0000 SatCompile 000 (50000000 0UUOooooO

00000000000000000000 Blackbox (version 3.6b) O AMPO OO O
goddoooooooooo s2upbooobbobobobbbbbbooooooooaa
AMPOODOODOODOODOOODOOOAMPO JavaOOODOODOOOBlackboxd C OO
gooboboobboobobtbddoodooouobboooubbbbiUdBlackbox
Oodddoiul -solver satz U U UOU

O s5200000000000000300000000000000D0000o0oOoao
O0000000000000D00000ODOOOBlock-large-a OO0 AMP O Blackbox
O0O000000000O0 BlackboxU Satz OO OUOODUOOODDOOODDOODOOODODOO
ooooo

3http://www.research.att.com/ kautz/blackbox/
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f

shoot causes -alive -loaded if loaded.
load causes loaded.
initially alive, -loaded.

vale-shooting.a

planning

sat solver

tvpe analvsis

getExecutablelnstances)

checkActionExeclusion

expand

checkPropositionLevel)

—
[=2]

o olo|lololoo/lo/o

O 5.12. AMPOUODOODOOOOO
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Problem | Nodes | Clauses | Time [msec]
Model block-12 1212 1572 1590
generation | block-large-a | 1512 1940 1640
Planning block-12 2375 26381 6650
block-large-a | 4227 | 117108 19170

O s5.1: 000gugpobobogooboboogd

Problem Plan | Nodes | Clauses | AMP | Blackbox
length [msec| | [msec]
tire-world.04 12 1036 2798 3290 270
rocket-a 7 2039 | 22814 | 10770 3630
block-12 12 2375 | 26381 | 6650 2040
block-large-a 12 4227 | 117108 | 19170 19500
logistics-log-b 13 4466 | 25609 | 29770 15650
logistics-log10 10 8068 | 109044 | 31360 11970
logistics-log11 11 6775 | 70171 | 62280 37400

O 5.2 AMP O Blackbox DO O ODOODOODOODO
(000 00366MHz Pentiumll and 128MB memory.)

5.8 0O OO
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6.1 UO0OUgooong

000000 AODODOOOOOODOO0DO0OOODOOOOO0OOO0D [3ooooo0o
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00000000000000 « 00000000000 FOO (e, F)DDODODOOO
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00 1000 (o, F/)DOOODOODOOOooooo

e OO UOOODLDODOOOOODLDLDDOOOODLDDOLDDOUOOOODLODLDbDDOOO
gbooboogooobooooon
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0000000000000 0000FD0O0000 (true)00000 (false)0 « OO0
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broken

true false
loaded
true false
alive
true false

O 6.1: OO0 (shoot, alive)

06100000 (shoot,alive) 00000000000 shoot 00000000 DOOO
00 aive 0000000 (true) D0 00000 (false)D000000O00OO0O0OOOx 0O
OoOo0o0O00oobOo00oboU0boo0 ACOoUOoboOooooobbooobooooo

shoot causes —alive if —broken A loaded

impossible shoot if =broken

000 impossible a if ¢ [0 Oa causes false if o 000000000000 o 0000
O00000D00000 « DOODDOODOOO0ODOO0ODOODOO shoot O alive 00000
0000000000000 00000000000000000000000 (broken)
O000Oshoot 0O0DOO0D0ODODOOODODOODODODODOOODODODOODO

shoot causes —alive if loaded

bobooboobobobobobooboobooboobbooobooboooaon
O (training set) 0000 “07000000000

g 2 0000000000404gd
(f after a) A (initially py A---Apy)  (m >0)
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gboogboobod py,---,p,ddbodbuodboodbdl e 000000000
OO0o0O0Db fOOOO0O0OOOOO0ODOODODOOOODOODOODODODODOO

fafteraifpi A---App,

mA-Ap, 000000 f00000000000 p; 0000000000 |p000
000 «0000000000000000000000000000 fase 000000
O000f00000000000000O0O0O0O0O0O0C0O0000O0fO0000000C0
00000000000 0000000f0 fase 00000000000000000

gbooogdbbogobogbbboboogbbuoobbuoobbooobboobboo
Doogboooobobobooboboboobobooooboboboobobo
gbooboboogobbooogobboboooobbbuoobobbtbed4ddbbnbOn

OO0 3000000 00000000 FOOOUOOODOOOO ZOOOOZODOODO
ooobooo pobodbd nODO0b000bO0ob0REDOO0ODOOODObODOODO
gbobobuoodgobood

F if p>nandp>k
Majority(Z) = ¢ —F if n>pandn>k

x if k>pandk>n

004 0000Z00000D000O FODOODOOD FOOODODOODODOODO
gooo

Ir={(gafteraifp)eZ | |g/=F D000 g=false }
gogooooool e ddooouooooobbbbbon
I¢={(f after X ifp) € Z | X =a}
U0 5 000000000 pddddpbbooonobobbogd

T if pOOOOOODOOO
Value(p) =< F if pO000000000
x if p O false
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000000000000 000000000000000O0000000000 I(P(v),
, P(vy,)) O

n

[(P(Ul)," Un :Z P'Uz 10g2 ( )

gbooood

Ooodb0 o« O0D0OOO0ODOO FODOOOODOOO ZODOOOZOOOOOO
Oobo0o podooob n00O0000D00O0 kOOODDOODOODOOODOOOOD
oooboooobobzoooobobobooobooobobooboboobobo
gboobooogobobod

I<p n k‘) P P n o n kl k
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Iz 7] |Z] Zl Pz oz Iz T
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gboogbobodboobadgbog s ugbougoooonooobbodboon
gbbogdbooobboobbuoobodbbuoobboad s ubugbbogn
goooao

Ooo0oobOdobobD oooobooobobooobooobooboboozOonO?
0000 4,,Z, 0000010

T,={(fafteraifp)cZ | O GOOOOO }
I,={ (fafteraifp)eZ | 0 -GOOODDO}

000000000000 GOO0000000000000000000000000000000
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7, 0000000000 000000 n,000000000 k000000000
GO00000000000000000000000000 I(py/|T],m/|T, k/|T0)
000000000000000000000000 GOO0000000000000
0000000

Remamder(G):p1+n1+k1](p1 43" kl) P2+n2+k2](]92 N kz)

7] | 1] 124 7] | Zo|" [Zo] | T
00000000000000000000000 ¢GO000000000000000
00000000000

Gaén(G)z[(%,%,%) — Remainder(G)
oooooooooonoooooooooooooooonoooooonoooooon
gooooogoo

ODO00000D00OD00 620000000000 CausalRelationLearning 0000
OO000000 Z7000000Z000000000000000 ADOOOOOOOd
FOOODOOOO (o, /) D0ODO0O00O00O0O0O00ODO DecisionTreeLearning 0000 O
oo ooonoooon
gooooo

6.2 OO

ooodboobdboboobobob 40b00bO0bOobObO0obOobobOobOoon
gbobogobod dedbbugobboodgbbuoobbuoobboobbogb
0000000000000000000 ¢ (00000000000 0)000000
gos50000d

M  after if MAWAGAC
M after if MAWAGAC
M  after if MAWAGAC

if MAWAGAC
if MAWAGAC

false after

Q@ @ o @ Y

false after

90



CausalRelationLearning(7)
ooooooog 7
oo0obooooono D
begin
D=0
A=700000000000000
F=7000000000000000
for each a € A
for each F' € F
P=7¢00000000000000
D =D U DecisionTreeLearning(a, F, 74, P, Value(Majority(Z&)))
end.
DecisionTreeLearning (a, F, Z, P, V)
000000000 ¢, 0000000 FOODOO ZOOODDOO P,OOO0OODODO V
000000 D= (a,F)

begin
if Z = () then
return V

if000000000 XO0OO then
return Value(X)
if P =0 then
return Value(Majority (1))
Gain(P)0OODOOOOOOODODOOOOO PePOOD
P =P\ {P}
I1={(fafteraifp)ecZ | pO0 GOOOOO }
Iy ={ (fafteraifp)eZ | pO0 -GOODOODO }
ooo pooo pOOO
0 POOO0OOODOUO DecisionTreeLearning(A, F, Z;, P/, Value(Majority(Z,))) 00O O

0 POUOOOO0ODOU DecisionTreeLearning(A, F, Zo, P, Value(Majority(Z;))) 00 O
end.

U 62 000000booooogn
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true false
G G
true false true false
F X X T

063: 00000000 (g, M)

000000000000 (¢,M)D0063000000000000 AODDDODOOO
0000000000 Ooogon

g causes M if MAG

g causes M if MAG

impossible ¢ if M AG

impossible ¢ if M AG
O0000000000000000000000000200 impossible 000000
000000000000 0000D0000000O00DO0DO0o0O0bOOoO0ooDOooODOn
OO0000000000O0oo00ooo0ooooooooooooooooooooono
00000000 »w(DO0O00000D0OD0O0OO0)00D0O0OC0O0O000O00ODDOOOO
O00000000000000000000 (impossible0 000 0)0

w causes M AW if MAWAGAC
w causes M AW if MAWAGAC
w causes M AW if MAG
w causes M AW if MAG

gddddoooouououoooobeuuuunoobuooooobbbbobobbb
gbobogdgbbuoobooboogbbobbooobboobbooboobogb
0280000000 AODDODODOODOOOOOOODODOOOODODODOOOOO
gboobobobodgbudgbodgbuoobooboobooboobobobobobon
o040 4000000000000000O0O00O0O0OODODOOODOODOODOODO
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